distribution.

PROBABILITY

|TOPIC 1|
Basic of Probability and
Conditional Probability

SOME BASIC DEFINITIONS

Experiment An operation which can produce some well-defined outcomes is
called an experiment.
Random Experiment An experiment is called random experiment, if it satisfies
the following two conditions

(i) It has more than one possible outcomes.

(ii) It is not possible to predict the outcome in advance.

e.g. When a fair coin is tossed, it may turn up a head or tail but we are not sure
which one of these results will be actually obtained.

Qutcomes and Sample Space A possible result of a random experiment is called
its outcome. The set of all possible outcomes of a random experiment is called
its sample space. It is usually denoted by S. Each element of a sample space is
called a sample point or an event point.

e.g. The sample space of rossing a coin is § = {H, T}.

Trial When a random experiment is repeated under identical conditions and it
does not give the same result each time but may result in anyone of the several
possible outcomes, then each such action is called a trial and the outcomes are
called cases. The number of times the experiment is repeated, is called the
number of trials.

e.g. One toss of a coin is a trial, when the coin is tossed # times.

In this chapter, we will discuss the concept of conditional probability of an event
given that another event has oceurred, which will be helpful in understanding the
Baye's theorem, multiplication rule of probability and independence of events. We
will also study random variable, its probability distribution; mean of probability
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Event

A subset of the sample space associated with a random
experiment is called an event.

e.g. On tossing a coin, we have sample space § ={H, T}
The event of getting a head is given by £ = {H].

Clearly, £ C §, so £ ={H} is an event.

TYPES OF EVENTS

(i) Impossible and Sure Events The empty set ¢ and the
sample space § describe events (as S and ¢ are also
subset of §). The empty set ¢ is called an impossible
event and whole sample space S is called the sure
event.

e.g. When we throw, a die, then the event of getting a

number greater than 6 is a impossible event and the

event of getting a number less than 7 is a sure event.
(ii) Simple Event If an event has only one sample point

of a sample space, then it is called a simple or

elementary event.

e.g. Let a die is thrown, then sample space

§=1{1,2,3,4,5,06}
Again, let A = event of gerting 3 ={3}

Here, A is a simple event.

(iii) Compound Event If an event has more than one
sample point, then it is called a compound event.
e.g. In the experiment of tossing a coin twice, the
events £ = exactly one head appeared
and F = atleast one head appeared are compound
events. The subsets of § associated with these events
are £ ={HT,TH}and F ={HT,TH, HH }.

(iv) Equally Likely Events The given events are said to
be equally likely, if none of them is expected to occur
in preference to the other.
eg. In [hrowing an unbiased die, all the six faces are

equally likely to come.

(v) Mutually Exclusive Events Two or more events are
said to be murually exclusive, if the happening of one
excludes the happening of the other i.c. if no two of
them can occur together. If A and B are murually
exclusive events, then (4 M B) = ¢.

e.g. In throwing a die, all the 6 faces numbered 1 to 6

are mutually exclusive, if anyone of these faces comes,
the possibility of others in the same trial is ruled out.

ivi) Exhaustive Events A set of events are said to be
exhaustive, if one of them necessarily occurs
whenever the experiment is performed.

Let £, E,,..., E, be subsets of sample space S. Then,
events E |, E,,..., E, are exhaustive events,
fE,UE, U WE, =8,

e.g. In the experiment of throwing a die,

§5=112,3,4,5,6}

Let E, = event of getting an even number
= {2, 4,0}
and £, = event of getting an odd number
=113, 5}
Here, £, U E, =85. So, E, and E, are exhaustive
events.

(vii) Complement of an Event Let A4 be an event in a
sample space 5, then complement of A4 is the set of all
samplc points, which are notin 4 and it is denoted by
A or A.
ie. A ={n:neS, ng A}

e.g In the random experiment of [hrowing a die, the
samplc space 5 =1{1,2,3,4,5,6} and if we define the
event F as getting multiple of 3, then complement of

E e E={12,4,5}.

PROBABILITY OF AN EVENT

If there are » elementary equally likely events associated
with a random experiment and m of them are favourable to
an event A, then the probability of happening or occurrence

of A is denoted by P(A4) and defined as

Number of elementary events
m | favourable to event A
PlA)=—=
n Total number of elementary |
events to the experiment
Note

Ho=PA) =1
(i) Probability of impossible event is zero.
(iii) Probability of sure event is 1.
V) PIAL A =1
W PANA)=0
(i) P (A = P(A)
(vii) Sometimes, we have to select r objects from n distinct objects,
n!

0=r=n
iin=r)!

then we use the formula, "C, =



Coin
A coin has two sides, head and tail. If an experiment
N consists of more than one cain, then coins are considered
as distinct, if not otherwise stated.
(i) Sample space of one coin = (H, T}
(i) Sample space of two coins = [(H, T), (T, H), (H H), (T, T)}
{iii} Sample space of three coins
= {(H H,H),(H H,T)LiH T, H), (T, H H),
(H, T, VLT H LT TLHL(T T, TH
Die
A die has six faces marked 1, 2, 3, 4, 5 and 6. If we have
maore than one die, then all dice are considered as distinct,
if not otherwise stated.
(iY Sample spaceofadie=1(1, 2 3,4,5,6}
(i) Sample space of two dice
(LD, (L3, (1,3, @4, (1,8, (L&
(20, (22, (23),(24), (258), (28
3,0, (2,2,(3,3),(3,4),(3,58), (3,8
a0, (4,2, (4,3), (4,4), (4,5), (4,8
50, 6 3, (6 3), &4, 65, 66
(61, (B3, (63),(EH 65, 66

Playing Cards

A pack of playing cards has 52 cards. There are 4 suits
namely spade, heart, diamond and club, each having 13
cards. There are two colours, red (heart and diamond) and
black (spade and club), each having 26 cards.

In 13 cards of each suit, there are 3 face cards namely king,
queen and jack, so there are in all 12 face cards. 12 face
cards along with 4 ace cards are together known as

16 honour cards, i.e. 4 ace, 4 king, 4 queen and 4 jack.

Cards
52
!
J Colours l I
Red Black
2% 26 |
l 1
Heart Diamand Club Spade
13 13 13 13

- ——

EXAMPLE |1] 4 cards are drawn from a well-shuffled

deck of 52 cards. What is the probability of obtaining
3 diamond cards?

Sol. -- Total number of cards in a deck =52 [given]

Total number of ways of selecting 4 cards out of 52 cards,

n(s)="c,
Let E = event of getting 3 diamond and one another card
Then, n(E)="C, x ¥C,
n(E) _ “c, x¥c,
n(s) %,

. Required probability, (E) =

Important Results on Probability

1. Addition Theorem of Probability
(i) For two events A and B,
P{AUB)=PA)+ P(B)-P(AN B)
If A and R are murually exclusive events, then
P(Av B)= P(A)+ P(B)
[for mutually exclusive events, P (A B) =0]
(i) For three events A, B and C,
PAUBOC)=PlA)+ P(B)+ PIC)
-P{ANB)-P(BrC)
=PANCI+ P(AN BNC)
If A, B and C are murtually exclusive events, then
PAVUBUC)=P(A)+ P(B)+ P(C)
[for mutually exclusive events,
PANB)=P(BNC)
=PCn A= P(ANEBNC)=0]
2. If A and B are two events associated with a random
experiment, then

(i) P(ANB)=P(B) =P (AN B)
(i) PLANB)=P(A)-P(ANB)
(iii) P[(ANB)U(AN B)
=P(A)+P(B)=-2P (AN B)
(iv) PIAnB)=1-P(Av B)
(v) P(AUB)=1-P (AN B)
(i) P(A)=P(ANB)+P(ANB)
(vii) P(B)=P (AN B)+P (BN A)
(viii) P(exactly one of A, B occurs)
P(A)+ P(B) = 2P(AnB)
P{Au B) - P({An B)
3. If A, B and C are three events, then
Plexactly one of A, B, € occurs)
=P(A)+ P(B)+ PI(C)=2P (AN B)=-2P(BnC)
=2P(ANC)+3P (AN BNC)
4. P(A)=1-P(A)

EXAMPLE |2| If A and B are two events such that
P(A) =042, P(B)=0.48 and P(An B)=0.16, then find
P(AUB).
Sol. Given, P(A) =042, P(B)=048 and P(A N B)=0.16
.. P(AUB)=P(A)+ P(B)- P(AnB)
=0.4240.48-0.16=0.90 - 0.16=0.74

EXAMPLE |3| There are 25 tickets bearing numbers
from 1 to 25. One ticket is drawn at random. Find the
probability that the number on it is a multiple of 5 or 6.



Sol. Let E = event of getting a multiple of 5
F = event of getting a multiple of 6
and E N F = event of getting a multiple of 5 and 6, Le. 30

P(E}:% [+ E = {510, 15, 20, 25}]
H:F)=i [ F ={612 18 24}]
25
and P(EHF)=%=1} [EnF={¢]]
. Required probability,
P(EUF)=P(E)+ P(F)- P(E F)
5 4 9
=—+—=0=—
25 25 25

CONDITIONAL PROBABILITY

If A and B are two events associated with the same sample
space of a random experiment, then conditional probability
of the event A given that B has occurred,

ie. P(A/B) is given by

P[iJ = M, provided P(B) #0
B P(B)

Probability of occurrence of event B, when A has already
occurred Le. I (B /4) is given by
P[ BJ _PBnA)

A Pa

y , provided P(A) £0

Properties of Conditional Probability

Let A and B be the events of a sample space S of an
experiment, then

(i) PS/A)=P(A/A) =1

(it) If A and B are any two events of a sample space S and
C is an event of §, such that P(C) #0, then
Pi(AU B)ICt=P (A/C)+ P(B/C)—P{(An B)IC}

In particular, if A and B are disjoint events, then

2)-{2)-12)
C C C
(iii) P(A'/B)=1- P (Al B), where A" is complement

of A.
Note If A and B are mutually exclusive events, then P(A/B) = 0.

METHOD TO SOLVE PROBLEM BASED ON
CONDITIONAL PROBABILITY
To solve problems based on conditional probability, we use
the following steps
I. Firstly, write the sample space for given experiment
and then assume the given events as A, B, which are
associated with sample space.

II. Find the probability of that event A or B, which is
already occurred and find P(A N B).
III. Find the required conditional probability by using
suitable formula
A P(AnB) B P(AN B)
—|l=—or P|—|=—
B P(B) A P(A)
Note If elementary events of the sample space are not equally likely,
then probabilities P{A ~B) and P{A) or P(B) being calculated
accordingly.

] 5

EXAMPLE |4| 1f P(4) = =, P ()= = and
P(AUB) =%, then find
() P(AnB) (i) P (4/B) (ii) P (B/4).  [NCERT]

Sol. Given, P(A)=2, P(B)=2 andP(AuB)=L
11 11 11

(i) P(AuB)=P(A)+ P(B)=P(AnNB)

» L1_-%,5 rans
111 11
6 5 7
ANB=—+—=—
= Aans TRETIET
: J*?(,fa.m.iz)—i
' n
) P[ﬁ]:wg_mi [.__P(Aﬁﬁ)zi]
B P(B) 511 5§ 11
(ﬁj}p[£]=m=4ﬂ=i=3
A P(A) 6/11 6 3
EXAMPLE |5| Two dice are thrown. Find the

probability of getting an even number on first die, if the
outcomes on the two dice always exhibits a sum of 8.
Sol. Here, two dice are thrown. So, sample space is
(1.1).(1,2),(1.3),(1.4).(L5).(1,6).
(21).(2.2).(23).(24).(25).(2.6).
- J(3.1).(3,2).(3.3).(3,4).(3,5).(3,6),
(4,1),(4, 2),(4,3).(4,4),(4,5),(4,6),
(5,1).(5.2).(5,3).(5,4).(5.5). (5.6),
(6,1),(6,2),(6,3).(6,4).(6.5).(6.6)
n(§)=36
Let A = event of getting an even number on first die

(21).(2 2),123),t24),cz5),c2,6),l

ie. A =1(4,1),(4, 2),(4,3).(4,4).(4,5),(4,6),
(6.1).(6 2).(6,3).(6,4).(6,5).(6.6)
n(A)=18
and B = event of getting a sum of 8
={(2. 6). (3, 5). (4, 4). (5. 3), (6, 2)}
n(B)=5



Here, {A mB)={(28), (4, 4), (6, 2)}

n{A N B)=3
_n(AnB)_3
Now, P(A r‘\B:}—iﬂ(s] "
_nB)_5
and Hﬁl_nw)_sa

Since, we have to find the conditional probability of
getting an even number on first die, when the dice
always exhibits a sum of B.

. Required probability = P(%] = M = BB_ﬁ = 3

P(B) 53 5

EXAMPLE |6| Given that the two numbers appearing
on throwing two dice are different. Find the probability of
the events

(i) the sum of numbers on the dice is 4.

(ii) the sum of numbers on the dice is not 4. [NCERT]

Sol Here, two dice are thrown, so number of outcomes in
the sample space, 5§ =6 % 6 = 36 (equally likely sample
events) ie. n(S) =36
Let E be the event of getting sum of the numbers on the
dice is 4 and F be the event that numbers appearing on
the two dice are different.

Then, E = {(1, 3), (2, 2), (3, 1)}
=n(E)=3
(1, 2), (1, 3). (1, 4), (1, 5), (L, &),
(2,1).(2 3),(2 4),(25),(2 6),
_ B 1) (3 2).(3 4). (3.5), (3, 6),
and  F =100 1) (4, 2), (4, 3).(4, 5), (4, 6).
(5.1), (5 2), (5. 3), (5, 4).(5, 6),
(6.1), (6 2), (6. 3), (6. 4). (5, 5)
= n(F)=130
Here, ENF ={(1,3),(31)}=2

Number of favourable outcomes 30 5
P{_F:} - - - E - E

Total number of cutcomes
andP(EnF)=2=1
36 18
(i) The probability that the sum of numbers on the dice
showing different number is 4,
p E\_ P(E nF)_lfls_l_
F P(F) 5/6 15
(ii) The probability that the sum of numbers on the dice
showing different numbers is not 4,

E’ E 1 14
Pl—|=1- —|=1-—=—
(Fr-dF)55

EXAMPLE |7| Consider the experiment of tossing a
coin. If the coin shows head, toss it again but if it shows
tail, then throw a die. Find the conditional probability of
the event that ‘the die shows a number greater than 4
given that there is atleast one tail. [NCERT; Delhi 2014C]
Sol. The outcomes of the experiment can be represented in

the following tree diagram.

The sample space S of the experiment is given as

S={(H, H),(H, T).(T.1),(T. 2),(T. 3),

(T.4),(T,5). (T, 8)}

{H. H)
Head (H)
< H.T)
(r.1)
{r.2)
Tl (1) (T.3)
(T.4)
(T.5)
{T.6)
The probabilities of these elementary events are

1 1 1
P{(H'H)}=Ex§=4_
1% 1
PYH, T)=—-x==—,
it 1} , < Sain
1 1 1
PUT. = x o=,
1 1
P{(T,Z)}=EXE=E.
1 1
P{(T.s)}=;x;=a
11
P{(T,4)}=EXE=E.
1 1 1
P{(T.S)}=;x;=ﬁ
1 1 1
and P{(T.&)}=ExE=E
Head (H)
1/2
1/2

Tail (T)

Consider the following events
A = the die shows a number greater than 4

and B = there is atleast one tail.



We have, A = {(T, 5), (T, a)},
B={(H, T).(T,1),(T, 2).(T,3).(T, 4),(T.5), (T, 6)}
and A N B={(T,5),(T,6)
P(B)= P{(H, T)} + P{(T. 1)} + P{(T. 2)} + P{(T. 3)}
+ P{(T, 4)}+ P{(T. 5)} + P{T. 6)}

= P(B)=£+1_+L+L+L+l_+L=E
4 12 12 12 12 12 12 4
1 1 1
and (A nB)=P{(T,5)}+ P{T.e)}j=—+—==~
B )=PUT, 5)+ PYT, 6)} == + = =~—
. Required probability = P[i] _HANB)
B P(B)
e 42
34 18 9

Note Here, the elementary events are nol equally likely. So, we
cannot say that P(8) = %, P(A M B)= %

TOPIC PRACTICE 1 |

OBJECTIVE TYPE QUESTIONS

1 A die is thrown once. Let 4 be the event that the
number obtained is greater than 3. Let B be the
event that the number obtained is less than 5.
Then, P{Aw B)is [All India 2020]

@32 ®) ()0 (d)1

2 From the set {L 2 3,4, 5], two numbers a and
b(a # b) are chosen at random. The probability

that 2 is an integer, is
b [Delhi 2020]

1 1 1 3
a)— - c)— d) =
OF ® @ @3
3 Three dice are thrown simultaneously. The
probability of obtaining a total score of 5is
[Delhi 2020]
5 1 1 1
a) — — c) — d) —
{)216 {b}Iﬁ {]36 ()49
4 A card is picked at random from a pack of 52
playing cards. Given that the picked cardis a
queen, the probability of this card to be a card
of spade is [All India 2020]

1 4 1
(a) 3 (d) 3

1

VERY SHORT ANSWER Type Questions

5 Events E and F are such that P (not E or not F)
= 0.25. State whether E and F are mutually
exclusive.

6 It p(ﬂ];, P(A), then prove that P(E] > P(B).
B A NCERT]

SHORT ANSWER Type I Questions

7 Three distinct numbers are chosen randomly
from the first 50 natural numbers. Find the
probability that all the three numbers are

divisible by both 2 and 3. [Delhi 2020]
8 Find[P(B/ A) + P(A/ B)],if P(A) = %. P(B) = %
and P(Au B) = E.
5 [Delhi 2020]

9 The probability that atleast one of the two
events A and B occurs is 0.6. If A and B occur
simultaneously with probability 0.3, then
evaluate P(4) + P(B). |NCERT Exemplar]

10 1f P(not 4) = 0.7, P(B) = 0.7 and P(B/4) = 0.5, then

find P(A/B). [All India 2019]

SHORT ANSWER Type 11 Questions

11 Ablack and a red die are rolled together. Find
the conditional probability of obtaining the sum
8, given that the red die resulted in a number
less than 4. [CBSE 2018]

12 Given that E and F are events such that
P(E)=0.6,P(F)=0.3and F(EnF)=0.2.

a2 ir(2)

13 1fP(4) =08 P(B)= O.SandP[%]= 0.4, then find

[NCERT]

the value of P(Aw B). INCERT]

14 1fP(B) = % P(A/B) = %and P(AUB)= %, then

find P(AuB) + P(A"w B). [NCERT Exemplar]

15 1fP(A) = % P(B) = %and P(AnB)= % then find

P(A/B’)-P(B’/ A"). [NCERT Exemplar]
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17

18

19

20

2

22

23

24

Aand B are two events such that P(4) £ 0.

Find P{E} if
A

(i) Ais asubsetof B. (ii) AnB=d [NCERT]

A fair die is rolled. Consider the following events
A={24,6),B={4,5)and C = {3,4,5,6)
Find (i) P(AuB/C) (ii) P(AnB/C)

Assume that each born child is equally likely to
be a boy or a girl. If a family has two children,
then what is the conditional probability that both
are girls, given that

(i) the youngest is a girl?

(ii) atleastoneis a girl? [NCERT; Delhi 2014]

A couple has 2 children. Find the probability
that both are boys, if it is known that

(i) one of them is a boy.

(ii) the older child is a boy. [Delhi 2014C)

A couple has two children. Find the probability
that both children are males, if it is known that
atleast one of the children is male. [NCERT]

Two coins are tossed once, if £: tail appears on
one coin and F: one coin shows head, then find

E
"7
A die is thrown three times. Events A and B are
defined as below

[NCERT]

A: 4 on the third throw
B: 6 on the first and 5 on the second throw.

Find the probability of 4, given that Bhas
already occurred. [NCERT]

A die is thrown twice and the sum of the
numbers appearing is observed to be 8. What is
the conditional probability that the number 5
has appeared atleast once? [NCERT)]

A black and a red die are rolled. Find the
conditional probability of obtaining a sum
greater than 9, given that the black die resulted
inas. [NCERT]

An instructor has a question bank consisting

of 300 easy true/false questions, 200 difficult
true/false questions, 500 easy multiple choice
questions and 400 difficult multiple choice
questions. If a question is selected at random
from the question bank, then what is the
probability that it will be an easy question, given
that it is a multiple choice questions? [NCERT)]

26

27

28

In a college, 70% students pass in Physics,
75% students pass in Mathematics and 10%
students fail in both. One student is chosen at
random. What is the probability that
(i) he passes in Physics and Mathematics?
(ii) he passes in Mathematics, given that he
passes in Physics?
(iii) he passes in Physics, given that he passes in
Mathematics?

In a hostel, 60% of the students read Hindi
newspaper, 40% read English newspaper and
20% read both Hindi and English newspapers. A
student is selected at random,

(i) find the probability that he/she reads neither
Hindi nor English newspaper.

(ii) if he/she reads Hindi newspaper, then find
the probability that she reads English
newspaper.

(iii) if he/she reads English newspaper, then find
the probability he/she reads Hindi
newspaper. [NCERT; Delhi 2011]

Consider the experiment of throwing a die, ifa
multiple of 3 comes up, then throw the die again
and if any other numbers comes, then toss a
coin. Find the conditional probability of the
event ‘the coin shows a tail’, given that ‘atleast

one die shows 3'7 [NCERT)]

HINTS & SOLUTIONS
(d) We have, A={4,56} andB=1{l, 2 3, 4}
Now, AnB={4}
Now, P(Aw B)= FA)+ F(B)- P(AnB)

3,41 6_
6 6 6 6
(c) We have sets of number {1, 2, 3, 4, 5}.
Sample space of choosing two numbers
=5, = S5xd _ 10
1x2

23454
)

Favourable outcomes are ( _____

..Required probability = iﬂ ==
1

(c) Three dice are thrown simultaneously favourable
outcomes = {(1, 1, 3), (1, 3, 1), (3, 1, 1), (1, 2, 2) (2, 1, 2)
(2,2, 1)}
=h
Total number of outcomes = 6° = 216

6 1
.. Required probability = — = —
1 P ; 216 36



(c) Let A be the event that card drawn is a spade and B
be the event that card drawn is a queen. We have a total
of 13 spades and 4 queen and one queen is from spade.

13 1
Al===—
A4) 52 4
4 1
P(B)=Z==
52 13
1
and P(AnB)=—
) 52
p(A)_PAnB) 152 1
B P(B) 113 4
Given, P(not E or not F) =0.25
= P(E’ UF")=P(E nFY =025
P(E AFY + P(ENF)=1
=, P(E N F)=1-P(E N FY

P(EAF)=1-025=075%0
Hence, E and F are not mutually exclusive.
. A AmB
Given, P[—] > PA)= HANE) > PA)
B F(B)

= HANB) = P(B) = P[E]:s P(B)
P(A) A

Hence proved.

Three distinct numbers are chosen from first 50 natural

numbers in **C, ways. Total numbers which is divisible

by 2 and 3 from first 50 natural numbers is

{6, 12, 18, 24, 30, 36, 42, 48} =5

fCy _ 8x7x6 1

. Required probability = = =
b : Y Mo, 50x49x48 350

We have, P(A)= lﬂ P(B) =§and P(AUB) =
1

W

We know that
P{AUB)= P(A)+ F(B)= P(ANB)

3 3 2
2=24+Z-PANB
- 5 10 5 RANE)
302 3 1
AmBl=— 4+ S -Z=—
= AAnB) =35
P(ANB) P(ANB)
N B/A)+ P(A/B)]=——— 4 =
ow [P( P(A/B)] P(A) B)
1

1
—_— i = —_—
310 2/5 12
We know that A U B denotes the occurrence of atleast
one of A and Band A m B denotes the occurrence of both
A and B, simultaneously.

Then, P(A W B) =06 and P(A n B)=0.3
> P{A U B)=P(A) + P(B)- P(A 1 B)
0.6=PA)+ P(B)- 03=PF(A)+ P(B)=09
= {[I—P(E)]+[1—P(E)]}=ﬂ-9_ _
[ P(A)=1- P(A)and P(B)=1-P(B)]
= P(A)+P(B)=2-09=1.1

1 1
-t =
3 4

10.

12.

13.

14.

Given, P(A")=0.7, P(B) = 0.7 and P [E] =05

Clearly, P(A)=1=PA")=1=07=03

Nov, (2)-HA0D
A P(A)
= 05=HANBE)
0.3

= PAnB)=0.15

p[i]=w= .15 =,p(i)= 3
B P(B) 0.7 B) 14

Let us denote the numbers on black die by B.B,.....B,

and the numbers on red die by R .R,, ..__R,.

Then, we get the following sample space.

5= (B, R).(B.R,). ..o, (By, R, (Bo.R). (By,Ry), ...

(ByRy), —os (BeR)(ByRy)...(ByR,)
Clearly, n{5) =36

Now, let A be the event that sum of number obtained
on the die is 8 and B be the event that red die shows a
number less than 4.

Then, A ={(B.R;), (Bs.R;).(By.Rs).(B.Rs). (B.R,)}
and B= {{Bl . R.J,(B[,Rﬂ.:31,Rs},cﬁz,m.tsz,RQ:,{Bz,Rsm}
----- - (BeRy).(Bg.Ry), (Bg.Ry)

= AnB={(B, R). (B, R;)}
Now, required probability,

2

P[A]_P(Anﬁ]_g_z 1

B AB) 18 18 9
36

Similar as Example 4 (ii) and {iii).[Ans. SE a.nd%}

Hint P(A N B)= P(A)x P(B/A)
and P(AUB)=P(A)+ P(B)- P(A r B)[Ans. 0.98]

Here,P{B)=%P{A;B)=%anﬂ.ﬂ‘{ﬁuﬁj=%
. P(AnB)
Since, PlAJB)= ———
P(B)
=  PAnB) =RA/B)-PB)=1x3=2
- 275 10
Also, P(A U B) = P(A) + P(B)— P(ANB)
4 3 3 1
A= e ===
- R4 5 S+10 2
P(AUB]'=1-P(AUB)=1—%=%
and P(A"UB)=1- P(A- B)=1-P(ANB")
1 2 4
=1=PFA)-AB i=l==-===
P(A)-P(B") St

= P{AUB]'+P(A'UB]=%+%=§=1



15.

16.
17.

18.

,ﬁntp[ﬂ_')xp(ﬂ']=w [Am. E]
B A") [L=P(B)[1-P(A)] 42
Hint P(A n B)=P(A)[Ans. ()1 (i) 0]
Given events are
A={24.6},B={4,5}and C = {3.4,5,6}

Sample space, § = {1, 2, 3, 4, 5, 6}
AUB={2456},AnB={4}

(AuB)INC={2456}n{3456}={4,5, 6}
and ANBNC={4}n{3 4,5 6}={4}

nS)=6n[{{AUB)NCY =3 n(AnBNC)=1
and n(C) =4
ﬁ”{AuE]= P{(AUB)NC] _ n{{(AUB)NC}/n(S)
[

Now,

P(C) n(C)/n(S)
_3/6 _3
Taf6 4
{ﬁ“{a n3)= P(ANBNC) _n(AnBNC)/n(S)
C P(C) n(C)/n(S)
_ 1/6 _ 1
T4/ 4

Let B represents elder child which is a boy and b
represents younger child which is also a boy. Also, G
represents elder child which is a girl and g represents
younger child which is also a girl.

If a family has two children, then all possible cases are
S = {Bb, Bg, Gg, Gb}
n(5) =1
Let us define event A that both children are girls, then
A={Gg} = n(A)=1
(i) Let E, be event that youngest child is a girl.

Then, P[i] = 7})“1 nE)
E, P(E,)

2 1

Now, E, ={Bg Gg} = P'(E|]=4 -

and ANE, ={Gg) = PA nE1)=i

Thus, {A)ZPANE) 1714 1
E, P(E)) 1/2 .2

*. Required probability = %

(ii) Let E; be event that atleast one child is a girl.
Then, E, = {Bg, Gg. Gb}

3
= n(E;)=3 = HE2]=E

Now, (ANE,)={Gg}= P(A ngz)=4l

Thus, P{i]=_ﬂﬂﬁﬁzlzﬁ=1
E,) " AE)

. Required probability =1/3

19.

20.

21

22,

23.

24,

Solve as Question 18. ‘|:Ans. (1) % (it} 12]

Hint A = both children are male
and B = atleast one children is male

pa)y=L pmy=2 Panp =1
4 4 4

Now, P [i] -PAnB 5) {Ans. l]
B P(B) 3
2

Hint P(E) = 43, P(F}=4E, P(EnF)=Z

4
Now, P {E] = P(EnF) [Ans. 1]
F P(F)

6 1
Hint P(B)=—, A B)=—
216 216

Now. p[A)=FAnB T, 1]
8)" e [Tl

Hint Let E : sum of numbers is 8
and F : number 5 appears atleast once
5 11 2
Then, A(E) = —, P(F)=-=and P(ENF)=—
en. AE) = o5 AF)=gaand A )= 3%

3
Required probability = P(%] [.A.us. %1

Hint A = sum greater than 9
and B =black die resulted 5

. P(AY=2 pB)=L P(AnB)=
36 36

Now, P(i] = 7}?{‘4 n B) [A_ns. l]
B FP(B) 3

2
=

Total number of questions,
n(5) =300+ 200 + 500 + 400 = 1400

Let E be the event that question is easy and F be the
event that question is a multiple choice.

Then, m(E) =500+ 300 =300
Number of easy questions _ n(E) _ 800 4
Total number of questions - ?S) T 400 7
n (F) =500 + 400 = 900
P(F)= Number of multiple choice questions
Total number of questions

_ n(F)_ 900 _9

T nS) 1400 14
and P(E n F)

~P(E)=

Also,

_ Total number of easy multiple choice questions
Total number of questions



26. P(A)="Probability of students passed in Physics = 70/100
P( B) = Probability of students passed in Mathematics

=T75/100
P{A" m B") = Probability of students fail in both = %
= PA"NB')=1=-PAUB)
R . 10 90
P(AUB)=1=-PA'NB ]=I-E=ﬁ
(i) P(he passes in Physics and Mathematics)
= P(A  B)= P(A)+ P(B) - P(A U B)
=0,B_%N_ 5.1
100 100 100 100 20
{ii) P(he passes in Mathematics given that he passes in
Physics)

55
_(BY_PANB) 100 _5_1
_P(I)_W_ﬁ_ﬁ_ﬁ

100

(iii} P(he passes in Physics given that he passes in
Mathematics)
_ P(£]= P(A 1 B)
B P(B)
E
-loo _55_11
75 75 15
100

| TOPIC 2|

Multiplication Theorem on

27. Let H = student reading Hindi newspaper
and E = student reading English newspaper
Let n(5) =100, then n{ H) = 60,
n(E)=40and n(H M E) = 20

apy="H) 80 3 ppy=mE)_ 40 2
n(S) 100 5 n(5) 100 5
and P(H nE)=M=E=l
(5) 100 5
(i) Required probability = P(student reads neither Hindi
nor English newspaper)

=PH NE)=PHUE)=1-PHUE)
=1-[P(H)+ F(E)- P(H N E)]
PO I | P . |
[57575)7° 7575
(ii} Required probability = P(student reads English
newspaper, if he/she reads Hindi newspaper)

{E)-neom sy
H) PH) 35 3

(iii) Required probability = P(student reads Hindi

newspaper when it is given that
he/she reads English newspaper)

{2)sRiion s s
E) PE) 25 2

28. Similar as Example 7. [Ans. 0]

Probability and Independent Events

MULTIPLICATION THEOREM

Let A and B be two events associated with a random
experiment, then
P(A)- P(BlA), where P(A) 0

P(Ar'\B:’={P(B},p(AjB],whereP(3}¢0

Here, A B denotes the simultaneous occurrence of the
events A and B. The event AN B is also written as AB.

The above result is known as the multdiplication rule of
probabilicy.

EXAMPLE |1| Find the probability of drawing a
diamond card in each of the two consecutive draws from a
well-shuffled pack of cards, if the card drawn is not
replaced after the first draw.

Sol. Let A be the event of drawing a diamond card in the
first draw and B be the event of drawing a diamond card

13 1
in the second draw. Then, P{A)=—=—

52 4
After drawing a diamond card in first draw, 51 cards are

left out of which 12 cards are diamond cards.

F(B}A)=Probability of drawing a diamond card in
second draw when a diamond card has
already been drawn in first draw

( EJ 12 _4
= Pl—e=|z=—=—
A 51 17
Now, required probability

=P(A nB}:P{A)-P[E]
A
1 4 1
R ¥ iy,
4 17 17



EXAMPLE |2| A bag contains 19 tickets, numbered
from 1 to 19. A ticket is drawn and then another ticket is
drawn without replacement. Find the probability that
both tickets will show even numbers.

Sol. Let A be the event of drawing an even numbered ticket
in first draw and B be the event of drawing an even
numbered ticket in the second draw. Then,

Required probability = P(A n B)=P(A)- P(BJA) ..(i)
Since, there are 19 tickets numbered 1 to 19 in the bag,
out of which 9 are even numbered viz. 2, 4, 6, §, 10, 12,
14, 16 and 18.

Therefore, P(A)= i
19

Since, the ticket drawn in the first draw is not replaced,
therefore second ticket drawn is from the remaining 18
tickets, out of which 8 are even numbered.

Hence, required probability = P (A m B)
=P(A)-P(B/A)
9 « 4 4

[from Eq. (i)]

Multiplication Rule for

More than Two Events

Let E, F,G and H be four events of sample space S. Then,
F

. &)
(i) P(EHFHG}—P(E)-P(EJ-P(EHF]

(ii) PIENFNGN H)

=P(E}vﬁ{£]-f’[ G )p[ H )
E EnF ENnFnG

EXAMPLE |3| Three cards are drawn successively
without replacement from a pack of 52 well-shuffled

cards. What is the probability that first two cards are king
and the third card drawn is an ace?
Sol. There are 52 cards in a pack.
n(S)= 752
Let A = event that the card drawn is king

and B = event that the card drawn is an ace.
Now, P(A)=4/52

%] = Probability of drawing second king when one
king has already been drawn = %

[+ remaining cards are (52 —1) = 51]
P(BfAA) =FProbability of drawing third card to be an

ace when two kings have already been drawn = il

Now, probability of getting first two cards are king and
third card is an ace = P{A N A N B)

=P(A)- f{%] . P[%] [by multiplication theorem]
4 3 4 2

e W — W —

52" 51 50 5525

EXAMPLE |4| Abag contains 5 white, 7 red and 8 black
balls. If four balls are drawn one by one without
replacement, then find the probability of getting all white
balls.
Sol. Let A, B, C and D denote events of getting a white ball
in first, second, third and fourth draw, respectively.
Then, required probability = P(A n B C n D)
=P(A)P(B/A)P(C/IANB)P(D/ANBAC) ..()
Now, P (A) = Probability of drawing a white ball in first
draw
5 1

20 4

When a white ball is drawn in the first draw, there are
19 balls left in the bag, out of which 4 are white.

P(B/A)=2
19

Since, the ball drawn is not replaced, therefore after
drawing a white ball in second draw, there are 18 balls

left in the bag, out of which 3 are white.
P(C/AnB=2=1
18 6

After drawing a white ball in third draw, there are 17
balls left in the bag, out of which 2 are white.
P(D;Anﬁm:):i?
1

Hence, required probability = P(An BN C n D)
=P(A)-P(B/A)P(C/ANB)P(DIANBNC)
1 4 1 2 1

=K —H— M —=—

4 19 6 17 969

INDEPENDENT EVENTS

Two events A and B are said to be independent, if the
occurrence or non-occurrence of one event does not affect
the occurrence or non-occurrence of another event. Two
events £ and F are said to be independent, if

P(g} = P(F), provided P(E) #0

and P(é] = P(E), provided P(F) #0.
In other words, let E and F be two events associated with

the same random experiment, then E and F are said to be
independent, if P(E N F) = P(E)- P(F).



Some Important Results

1. Two events £ and F are said to be dependent, if
they are not independent.

Le. PIEnF)= P(E)- P(F)

2. Two experiments are said to be independent, if for
every pair of events F and F, where F is associated
with the first experiment and F with the second
experiment, the probability of the simultaneous
occurrence of the events £ and F is the product of
P(E) and P(F) calculated separately on the basis of
WO experiments.

Le. P(EnF)=P(E)- P(F)

3. Difference between independent
mutually exclusive events

events and

(i) Term independent is defined in terms of
probability of events whereas mutually exclusive
is defined in terms of subset of sample space.

(i) Mutually exclusive events never have an
outcome common, but independent events
may have common outcome. In other words,
two independent events having non-zero
probabilities of occurrence cannot be mutually
exclusive and conversely i.e. two mutually
exclusive events having non-zero probabilities
of occurrence cannot Ee independent.

4. Three events A, B and C are said to be mutually
independent, if

P{An B)= P(A)- P(R)
P(ANC)=P(A)- P(C)
P(BNC)=P(B)- PIC)

and P(ANBNC)=P(A)- P(B)- P(C)

If atleast one of the above is not true for three given

events, then events are not independent.

i.e. dependent.

PROPERTIES OF INDEPENDENT EVENTS
If A and B are independent events, then
(i) Aand B"are also independent events.
(ii) A" and B are also indepcnden( events.
(iii) A" and B” are also independent events.

EXAMPLE |5| An unbiased die is thrown twice. Let the
event 4 be ‘odd number on the first throw’ and B be the
event ‘odd number on the second throw. Check the
independence of the events 4 and B .

Sol On throwing a die twice, we get 36 elementary events

of the experiment which are to be considered to be
equally likely. Odd numbers are 1, 3 and 5.

P{A) = P (odd number on the first throw)

_ 18 _1
T3 2

[~ possible outcomes (1, 1), (1, 2), (1, 3), (1, 4),(1, 5), (1, &),

(3. 1), (3, 2), (3, 3), (3, 4), (3, 5), (3. 6), (5. 1), (5, 2),

(5, 3), (5, 4), (5, 5) and (5, 6) i.e. 18 outcomes]

Similarly, P(B) = P {odd number on the second throw)

_15_1
T3 2
Also, (A m B) = P(odd number on both throws)
91
T36 4

[~ events are (1, 1), (1, 3). (1, 5), (3, 1), (3, 3).
(3.5), (5, 1), (5, 3) and (5, 5) L.e. 9 outcomes]
1 1 1
Ni A)-PB)==x ===
ow, P(A)-P(B) it
Thus, P(A n B)= P(A)-P(B)

Hence, A and B are independent events.

EXAMPLE |6] Two dice are thrown, find the probability

of getting an odd number on the first die and a multiple of

3 on the other die. Also, show that both events are

dependent.

Sol Let A be the event of getting an odd number on the first
die and B be the event of getting a multiple of 3 on the
second die.

On throwing two dice, total outcomes =36

QOutcomes favourable to A M B, i.e. an odd number on
first die and a multiple of 3 on the other die are

{(1, 3). (1, 6), (3, 3), (3, 6). (5, 3), (5, 6)}

n{ANB)=6
Then, required probability, P(A mn B)= % =
Now, A ={1. 3,5}, B={3 6}
So,n{A)=3 n(B)=2
p{;.):’”m=i=l
n(S§) 3 12
2 1
d B)=—=—
o HE) 36 18
1 1 1
Here, P(A)-P(B)=—x—=—=% P(ANB)

1218 216
Hence, A and B are dependent events.

Note If A and B are two dependent events, then we cannot apply
P(AnB)=P(A)-P(B)

EXAMPLE |7| If each element of a second order
determinant is either zero or one. What is the probability
that the values of the determinants is positive? Assume
that the individual entries of the determinant are chosen
independently, each value being assumed with probability
1/2. [NCERT]



Sol. A second order determinant has four entries which may
be 0 or 1.

Total number of determinants = 2' =16

10 11
d

IR

Since, each entry of the above determinant can be

selected with probability 1/2.

Therefore, required probability = 3{% * % x L x l) -2

10

The only positive determinants are i1

2 2 16

EXAMPLE |8| A and B throw a pair of dice alternately.
A wins the game, if he gets a total of 7 and B wins the
game, if he gets a total of 10. If A starts the game, then

find the probability that B wins. [Delhi 2016]
Sol. Here, n(S)=6x6=36
Let A =Event of getting a sum of 7 in pair of dice

={(1, &), (2, 5), (3, 4), (6, 1), (5. 2). (4, 3)}
= n(A)=6
and B = Event of getting a sum of 10 in pair of dice
={(4, 6), (5. 5), (6, 4)}
= n(B)=3

by A6 1
n(5) 36 6
and pPB="B_3_1
n(5) 36 12
= F’{m=1—l=E and .P(EII=I—L=E
6 6 12 12
Now, the probability that if A start the game, then B

wins _ _ _ _
P(Bwins)=P(AnB)+ P(AnNBNANB)

+P{I ABrAMB nInB]+
= P(A) P(B) + P(A)P(B)P(A)P(B)
+ P(A)P(B)P(A)P(B)P(A) B(B) + ...

[ events are independent]

5 11 5 11 5 1
XXX —X—X—+
6 12 6 1 6 12
5 5 55 5 55
=+ x4+ x| =] +
72 72 72 72 72
: [ ]
S[ 55 55 -| 5 1
=1+ 2] 4=
TZL 72 72 J ?2[ 55J
] ==
72
. . a]
l sum of infinite GP series is n J
-r

L I
712\17/72) 17

| TOPIC PRACTICE 2 |

OBJECTIVE TYPE QUESTIONS
1 Abag contains 3 white, 4 black and 2 red balls.

If 2 balls are drawn at random (without
replacement), then the probability that both the
balls are white, is [Delhi 2020]

1 1 1 1
@ mL @i @ =

36 12
Four cards are successively drawn without
replacement from a deck of 52 playing cards.

The probability that all the four cards are king is
1 1

a

¢ ]270?21 ® 270722
1 1

) —— d) —

( )ZTOT:M @ 270725

If three mutually independent events are 4, B
and C, then

(a) P(An B) = P(A)- (B}, P(AnC) = P(A)- P(C)

(b) P(B~.C) = P(B)- P(C)

(c) P(An B nC) = P(A)- P(B)-P(C)

(d) All of the above

If A and B are two independent events with

P(A) =-§-and P(B) = % then P(4’ ~ B’) equals to

[NCERT Exemplar]
4 8
1 2
(c) 3 (d) 3

Two events 4 and B are said to be independent, if
[NCERT]

{a) A and B are mutually exclusive

(b) P(A"n B’) =[1- P(4)][1 - P(B)]

(c) P(A) = P(B)

(d) P(A)+ P(B) =1

VERY SHORT ANSWER Type Questions

6 Given two independent events A and B such

that P(4) =0.3 and P(B) =06, find P(4A' nB").
|All India 2020]

7 A die is tossed thrice. Find the probability of

getting an even number atleast once.  [NCERT]

SHORT ANSWER Type I Questions

8 Two cards are drawn at random and without

replacement from a pack of 52 playing cards.
Find the probability that both the cards are
black. [NCERT]



10

1

12

13

An urn contains 10 black and 5 white balls. Two
balls are drawn from the urn one after the other
without replacement. What is the probability
that both drawn balls are black?

A die marked 1,2, 3inred and 4, 5, 6 in green, is
tossed. Let A be the event ‘number is even’ and
B be the event ‘number is marked red’. Find
whether the events A and B are independent or
not. [Delhi2019]

Prove that if E and F are independent events,
then the events E and F'’ are also independent.
[Delhi 2017]

A die, whose faces are marked 1, 2, 3 in red and
4,5, 6 in green, is tossed. Let A be the event
“number obtained is even” and B be the event
“number obtained is red”. Find if A and B are
independent events. [All India 2017]

A die marked 1,2, 3inred and 4, 5, 6 in green is

tossed. Let A be the event, ‘number is odd’ and B

be the event, ‘number is green’. Are A and B
independent? [NCERT]

SHORT ANSWER Type II Questions

14 If A and B are independent events, then prove

15

16

17

18

that
(i) P(A) = P(AnB)+ P(AnE)

(ii) P(AUB)=P(A~B)+ P(AnB)+ P(A nB)

[NCERT Exemplar]
Given two independent events A and Bsuch
that P(A4) = 0.3 and P(B) = 0.6. Find

(i) P(Aandnot B) (i1) P(AorB)
If A and B are two independent events, then
prove that the probability of occurrence of
at least one of A and B is given by 1- P(A")-P(B’).
[All India 2017C]

If A and B are two events such that P(4) = i

P(B) = %and P(AnB) = % then find P (not 4 and

not B ). [NCERT]

One card is drawn at random from a
well-shuffled deck of 52 cards. Events E and F
are defined below

E:the card drawn is a spade

F:the card drawn is an ace
Check whether the events are dependent or
independent. INCERT]

19

20

2

22

23

24

Two balls are drawn at random with
replacement from a box containing 10 black
and 8 red balls. Find the probability that
(i) both balls are red.
(ii) first ball is black and second ball is red.
[NCERT]

Probability of solving specific problem
independently by 4 and B are 1/2 and 1/3,
respectively. If both try to solve the problem
independently, then find the probability that
(i) the problem is solved.
(ii) exactly one of them solves the problem.
[NCERT]

A can hit a target 4 times out of 5 times,

B can hit the target 3 times out of 4 times and

C can hit the target 2 times out of 3 times. They

fire simultaneously. Find the probability that
(i) any two out of A, B and C will hit the target.
(ii) none of them will hit the target.

Aand B throw a pair of dice alternately. A wins
the game, if he gets a total of 6 and Bwins, if
she gets a total of 7. If A starts the game, then
find the probability of winning the game by Ain
third throw of the pair of dice.

A and B throw a pair of dice alternately, till one
of them gets a total of 10 and wins the game.
Find their respective probabilities of winning, if

A starts first. |All India 2016]

LONG ANSWER Type Questions

Two dice are thrown together and the total
score is noted. The events E, F and G are ‘a total
of 4’, ‘a total of 9 or more’ and ‘a total divisible
by 5, respectively. Calculate P(E), P(F) and P(G)
and decide which pairs of events, if any are
independent? [NCERT Exemplar]

If A and B are two independent events such that
P(AnB)= % and P(AnB) = é, then find P(4)

and P(B). [Delhi 2015]

HINTS & SOLUTIONS

(c) We have 3 white, 4 black and 2 red balls.
Total number of balls={(3+4 + 2)=9
Two balls are drawn at random (without replacement).

Then, the probability that both the balls are white



2. (d)Let A denotes the event that the first card is king,
B denotes the event that the second card is king,
C denotes the event that the third card is king
and D denotes the event that the fourth card is king.
Now, {AnBNCnD)
=P(A)x P(BfA)x P(C/ANB)
x ADJANBNC)
3 2 1

4
—_— —— X — X —
5
1

2 51 50 49
1 1 1

1317 25 49
1

270725
3. (d) We know, three events A, B and C are said to be
mutually independent, if
P(AnB)=P(A)-F(B)
P(ANC)= P(4)-P(C)
P(BAC) = K(B)-P(C)
and P(AnBNC)=P(A) P(B)-P(C)
If any one of the above conditions is not true for three
given events, we say that the events are not mutually
independent.
4. (d)P(A’nB)=1-P(A U B)
=1-[P(A) + P(B) - P(A N B)]
3 4 3 4]

5 e Ts e

[-P(A rm B)= P(A)-P(B)]

o _[Zmr20-12
45

35 _10_2
5 45 9
5. (b) A and B are independent, if P(A m B) = P(A) P(B)
- P(A’AB)=P(AUB) =1- P(AUB)

=1-[P(A) + P(B) - P(A N B)]
=1=P(A) = P(B) + F(A) P(B)
=[1-PA)[1- P(B)]

6. Given, P(A)=03and P(B) =06

Now P(A'nB')=P(AUB) =1- P[A U B]
=1=[F(A) + P(B) = P(A N B)]
=1=1{03 + 06 - 03x06}
[- A and B are independent events
~P(AnB)=P(A)P(B)]
=1-{09 - 018}
=1-{072} =028
7. P(getting even number on a die) = §= %
~.Required probability = 1- Probability of getting an even
number in none of the throw
1. 1.1 7

=l-—x=—xX===

2 2 2 8

9.
10.

There are 26 black cards in a pack of 52 cards.
Required probability = P(E and F)

F
e

where, E : First card drawn is black
and F :Second card drawn is black.

Number of favourable outcomes

HE)=

Total number of outcomes
_ 26 _ 1

T 52 2

L=
E 51

.. Required probability,
P(E ~F) = P(E) }{%]

[after drawing 1 black card, there
will be 25 black cards left]

1
— x —
2 5 102
w9
Hint P(BB)= 2x L | Ans. 2
15 14 7
Given, a die marked 1, 2, 3 in red and 4, 5, 6 in green, is
tossed.
Clearly, 5§ ={1, 2,3, 4,5, 6}
Also, we have the following events
A': the number is even

25 25
1

B: the number is red
Now, two events A and B are independent, if

KAnB)=P(A)-H(B)

and

A={246)

301
A)===—

= MA) Py
B={ 23

3.1
Bl====

= P()ﬁ 5

and A M B=The number is red and even = {2}
=P{AnB]=%

Since, P(A N B) # P(A)- P(B)
Therefore, A and B are not independent.
Given, E and F are independent events, therefore
P(E AF )= P(E ) P(F) )
Now, we have
P(EAF")+P(ENF)=P(E)
= P(EnF")=PE)=-PEnF)
= P(ENF’)=P(E)-P(E)P(F)
= P(EAF )= PE)1-P(F)]
= P(ENF )= P(E)P(F")

~ E and F " are also independent events.
Hence proved.

[using Eq. (i)]



12,

13.

14.

15.

16.

17.

18.

When a die is thrown, then sample space is
§=1{,234,56} = n(5)=6

Also, A : number is even and B : number is red.
A={24,6}, B={l 23}and A B={2}

= n(A)=3 n(B)=3andn(An B)=1

n(A) 3 1 n(B)y 3 1
Now. M= s TP T
and P(A ~B)="A0E) 1
n(S) 6
1 1 1
N = — —_ - —_=
ow, P(A) x P(B) 2x2 4;! P(A N B)

P{ANnB)= P(A)x P(B)
Thus, A and B are not independent events.
When a die is thrown, then sample space,
S5={,23456} = n(S)=6
Also, A:Numberis oddand B:Number is green
~A={35,B={4,56and AnB={5)

= nm(A)=3 n(B)=3 n(AnB)=1

_ma)_3_1 _nB)_3_1
NW'HM_n(s) PR n(s) & 2
P(anB)="ANE) 1

n(s) &
1 1 1 .1
and P(A)XP{B)—EXE—Z#;—HAHB)
P(A A B) # P(A)x P(B)

Thus, A and B are not independent events.

(i) Hint RHS = F(A N B)+ P(ANE)
= P(A)-P(B)+ P(A)- P(B) = P(A)[P(B)+ P(B)
= H(A)[P(B)+1~ P(B)] = P(A) = LHS

(ii) Similar as part (i).

Hint (i) P(A and not By=P(A)- P(A n B)

=03 - (0.3)(06)
[ A and B are independent events]
(i) P(A or B)= P(A) + P(B)=P(A N B)
=03+06—-018 [Ans.(i)0.12 (ii) 0.72]
Required probability = P{(A U B)
= P(A)+ P(B)- P(A)-P(B)= P(A)[1-P(B)] +1- P(B")
= P(A)P(B")-F(B")+1
=1-F(B")[1= P(A)]=1- P(A")P(B’)
Hint P (not A and not B)= P(A")x P(B")
[ A and B are independent events]

=[1 - P(A)][1 - P(B)]= [1 - i] [1 —%) [Ans. %]

1 1 1
Hint P(E)=— P(F)==,P(EnF)=—
(E)=7.P(F) =12, P( )=

Hence proved.

Now, P(E nF)=P(E)x P (F)
[Ans. E and F are independent events]

R T
19. Hint (i) P(ER) = " x m
.. 10 _ 8 L6 . 20
(ii) P(BR) = = x " [An.s. {1)5 (11)5]

20. Wehave, P(A):%andP(B)=%

_ 1 1
P(A]—I—P{A)—I-E—E

and P(E)=1-P(E)=1-l=2
3 3
(i) P(problem is solved)

= P(atleast one of them will solve the problem)
= 1= P(none of them solve the problem)
=1- P(A)-P(B)
[+ Aand B are independent events, then

A and B are also independent events]
1 2 1 2
=l ==] - ===
2 3 3 3

(i1) P (exactly one of them solves the problem)

=P(AnEB)+ P(AnBE P(A)-P(B)+ P(A)-P(B)

[~ A and B are independent events, then A, B

and A, B are also independent events]

Sl 22,1 3.1
232 3 6 6 6 2
21. Wehave, P(A)=2 p(B)=2andpP(0)=2
5 4 3
— 4 1
Then, P(A)=1-P(A)=1=-—=—_,
5 5
= 301
P(B)=1-P(B)=1->=12
(B) P(B) i
- 2 1
and P(C)=1—P{C)=1—;=§

3

a2
(i) P (any two of them hit the target)
P(ANBAC)+ PANBNC)+ P(AnBnC)
=P(A)-P(B)-P(C)+ P(A)-P(B)- P(C)
+ P(A)-P(B)-P(C)
[** A, B, C, are independent events]
[431)(4 1 2](1 3 2]
=loxox—|+|ox—x—|+]=-x=x—
54 3) 1574 3) 15 473
12 8 6 26 13
=4 —F —=— = —
60 60 60 60 30
(i) P (none of them hit the target) = P(A)- P(B)- P(C)
[+* A Band C are independent events]

1.1 1 1
=W ===
5 43 60
) 5 6
22. Hint P(A)=— P(B)=—
36 36

Required probability = P (4)-P (B) -P{A}[Ans. %}



23.

24.

Here, n(S)=6x 6 =36
Let E =Event of getting a total 10

=1{(4.6). (5.5). (6, 4)}
= n(E)=3

*. P(getting a total of 10 E—@ ER
Plgetting a total of 10) = A(E) n(5) 36 12
and P(not getting a total of 10) = P(E)
1 11
=1-PE)=1-—==
P(:} 12 12

Thus, P(A getting 10) = P(B getting 10) = —

and P(A is not getting 10) = P(B is not getting 10)
11
12
Now, P(A winning) = P(A)+ (A N B A)

+PANBAANBAA)+ ...

= P(A)+P(A)P(B)P(A)+ P(A)F(B)P(A) P(B)P(A)+...
1 11 11 1 E E 2 2 1

N
R CRCRS hr

e x x xH —_

12 12 12 12 12 12 12 12 12
J 12

1=-|—

12

[ the sum of an infinite GPis 5_ = 4 J
1-r

|
144 =121 23
rranl
12 11

Now, P(B winning)1 - P{A winning) =1—-—= —
( g)1-P( g) EP

Hence, the probabilities of winning A and B are
. 12
respectively, — and —.
23
Two dice are thrown together, so number of outcomes in
the sample space is 36 = n(5) =36

e e g

E = Total of 4 = {(2. 2), {3.1) (1.3)}
= n(E)=3
F = Total of 9 or more
_ {{3. 6).(6, 3).(4, 5).(5. 4).(4, 61,}
(6, 4).(5,5).(5, 6).(8, 5).(6, 6)
= n(F)=10
and G = Total divisible by 5
={(1, 4), (4, 1), (2, 3), (3, 2), (4, 6), (6, 4), (5, 5)}
= n(G)=7
Here, (EF)=¢ and (ENG)=¢
Also, (F nG)=1{{4.6), (6 4).(55)}
= nmFnG)=3and (ENFnNG)=¢
nE) 3 1

HE ]_n(s] 36 12

and PG )_’:_'3=:_6
and P(F)- P(rs).-E :—6 %

Here, we see that P(F nG) # P(F)- P(G)
[since only F and G have common events,
so only F and G are used here]

Hence, there is no pair which is independent.

Given, A and B are two independenl events with
2
P{A nB)= —Sand AA ﬁE) = E

We know that, if A and B are independent events, then

I, Band A, Bare independent events.

Now, ﬂzn5]=%=ﬁ3].p{2)=%

= AB)-[I-KA)]= =
- F(B)- P(A)- P(B) = = 60
and P(A nE}=%=& P{A}-P(E)-%
= P(A)-[1 - P(B)] =~
= P(A)- A)AB) = = i)
On subtracting Eq. (i) from Eq. (ii), we get
PA)-A(B)=2-2 =20 &
15 30 30
= P(A)= _+ P(B) (i)

Now, on substituting the value ot HA) 1n Eq. (1), we get

P(B)-[%w(sl]-ﬂsh%

Let P(B) = x, then

1 2
X=|—+x|x=—
30 15

= x—(1+30x)x =4 =30x - x-30x" =4

= 30x% = 20x +4 =0= (bx =1){5x=4)=0
1 4 1 4

= x== or —=PAB)=—or — ["x=PFB8
: s F(B) A 5[ )

Now, if P(B) = % then P(A) = [using Eq. (iii)]

=3l RE TN

andif P(B)= % then P(A) =



| TOPIC 3|

Theorem of Total Probability and Baye’s Theorem

PARTITION OF A
SAMPLE SPACE

Asetofevents £, E,,..., E, is said to represent a partition
of the sample space S, if it satisfies the following conditions
) E;NE;j=6,i#jii,j=12...,n

(i) E,wE,w..WE, =§

(i) P(E;)>0,Vi=12,....,n
In other words, the events E,F,, ..., E, represent a
partition of the sample space S, if they are pairwise disjoint,
exhaustive and have non-zero probabilities.

Note The partition of a sample space is not unique. There can be
several partitions of the same sample space.

THEOREM OF TOTAL
PROBABILITY

Let{E,,E,,..., E,} be a partition of the sample space § and
suppose that each of the events £, F,,..., E,, has non-zero
probability of occurrence.

Let A be any event associated with S, then
P(A)=P(E,)-P(AIE)) +P(E,)-P(AIE,)
+..+P(E)- P(AIE,)

=), P(E))-P(AIE))

J=1

EXAMPLE |1]| Let bag A contains 4 black and 6 red balls
and bag B contains 7 black and 3 red balls. A die is thrown.
If 1 or 2 appears on it, then bag A is chosen, otherwise bag
B. If two balls are drawn at random (without replacement)
from the selected bag, then find the probability of one of
them being red and another black. [Delhi 2015]
Sol. Given, bag A =4 black and 6 red balls
and bag B =7 black and 3 red balls.
Let E, = the event that die show 1 or 2
E, = the event that die show 3or 4 or5 or 6

and E = the event that among two drawn balls,
one of them is red and other is black

2 1
Now, P(E,)=— FE;)=—
P(E, P =

[ total number in a die is six]

P[i] = P (getting one red and one black

: from bag A)
_'ooxfc)_4axex2
e, 109

and F{—J = P (getting one red and one black
from bag B)
_Topxc) _Tx3x2
~ ¢,  10x9
. Total probability,

E E

P(E)= P(E,)- F| — |+ P(E;)- P —
‘El 'EE

_2 [4xex2 +4 Tx3m2

a8 10 x9 6 109

L 4xe
65X 10 %9

_4xex11 _ 22
6x10x9 45

4+7)

EXAMPLE |2| A bag contains (2n + 1) coins. It is known
that (n-1) of these coins have a head on both sides,
whereas the rest of the coins are fair. A coin is picked up at
random from the bag and is tossed. If the probability that

the toss results in a head is 2, determine the value of n.
4 [All India 2016C]

Sol. Number of coins with head on both sides = (n-1)

Number of fair coins =(n+ 2)
Let E, = Picking a coin with head on both sides

E, =Picking a fair coin

e T

and A = Getting a head on tossing the coin

n-1 n+2

Then, H(E,) = 2:-.r+1'P'(EZ]=

2n+1

= P{Ei}=1, P(AJE,)=1/2

1
P(A)=P(E)P(A/E,)+ P(E,)P(A/E,)
_n-1 n+2‘l_ 3n
2n+1 2n+1 2 2A2n+1)
3n 31
= = o—_—
2A2n+1) 42
== n=731




BAYE'S THEOREM

If £\, E,,..., E, are n non-empty events, which
constitute a partition of sample space S, i.e.
E,, E,,..., E, are pairwise disjoint,

E/UE,u.WE, =8 and P(E;)>0, Yi=123,...,n
Also, let A be any event of non-zero probability, then

P(E,[A)= nf’(E,-l-Pu;Er.;

Y P(E;)-P(AIE;)

j=1

,foranyi=1,2,3,....mn

Or

Let £,,E; E;,...,E, be n mutally exclusive and
exhaustive events associated with a random experiment.
If A is an event, which occurs rogether with E,’s. Then,

P(E,|A)= "P(E.-}-P(A.-‘E,.)

ZP(EI}-P(A!EJ.}

j=1

Here, events £, E,,...,E, are called hypothesis. The
pmbabi]iry P(E;) is called the priori pmbability of the
hypothesis F; and the conditional probability P(E;/A) is
called a posteriori probability of the hypothesis £,. Baye’s
theorem is also called the formula for the probability of

CAUSES,

METHOD TO SOLVE PROBLEMS
BASED ON BAYE'S THEOREM
To solve problems based on Baye’s theorem, we use the
following steps
I. Identify the events, which constitute a partition of
sample space S and name them £, £,, E5 andso on.
II. Assume the other event of non-zero probability as 4.

I1I. Find the probabilities of £, £, E5,....

[V. Find the conditional probabilities of A with
Ey Ep ...

V. Use Baye’s theorem to find required probability, i.e.
P(E, [ A).

EXAMPLE |3| A box contains 4 orange and 4 green
halls, another box contains 3 orange and 5 green balls, one
of the two box is selected at random and a ball is drawn
from the box, which is found to be orange. Find the
probability that the ball is drawn from the first box.

Sol. Let E, = event of selecting box I,

E, = event of selecting box I
and A= event of drawing an orange ball.

Now, P{E|]=%andP(E2]=lE

Now. P(A / E,) = Probability of selecting an orange ball
from box 1

_4 1
s 2
[ total balls = 8 and orange balls = 4]

and P(A /E,) = Probability of selecting an orange ball
from box II

= % [ total balls = & and orange balls = 3]

Now, P(E, /A)=Probability that drawn ball
is from the first box
_ P(E,)-P(AIE))
P(E|)-P(AJE,)+ P(E,)- P(AJE,)

|-

Hence, the probability that the ball is drawn from the
4
first box is >

Note If P(E,) = P(Ez)= P(E3)= ... = P(E,), then

AEnBye DEIE)

Y PE/E)

i=1

EXAMPLE |4| There are three coins, one is a two
headed coin (having head on both faces), another is a
biased coin that comes up heads 75% of the time and third
is an unbiased coin. One of the three coins is chosen at
random and tossed, it shows head. What is the probability
that it was the two headed coin? [NCERT;All India 2014]
Sol Let us define the events as
E, = selecting a two headed coin,
E, = selecting a biased coin,
E; = selecting an unbiased coin,
A =head comes up.
Here, P(E,)= P(E,)=P(E,)=1/3
[+ all coins have equal chances]
P(A /E,) = Probability that head comes up on a two
headed coin
=1
P(A [ E;) = Probability that head comes up on a
biased coin
=75% =75100
and P(A / E,) = Probability that head comes up on an
unbiased coin
=1/2



Now, by Baye's theorem, we get

P(E,)-P(A/E,)

EJA)=
PE/A) [P(E,)-P(AE,)+ P(E,)- (A/E,)]
+ P(E;)-P(A/E,) |
1
;Xl
EJA)=
IR
—xl |+ = — |+ ==
3 3 1w0) |37 2
1+£+l 1004+ 75+ 50 2% 9
w0 2 100

Hence, the required probability is 4 /9.

EXAMPLE |5| In a factory which manufactures bolts,
machines 4, B and € manufacture respectively, 30%, 50%
and 20% of the bolts. Of their outputs, 3%, 4% and 1%
respectively are defective bolts. A bolt is drawn at random
from the product and is found to be defective. Find the
probability that this is not manufactured by machine B.

[All India 2015]

Sol Let E,=boltis manufactured by machine A

E, =bolt is manufactured by machine B

E =bolt is manufactured by machine C

and E = bolt is defective.

Then, we have F(E, ) = 30% =1— P(E,)=50% = 3

ﬂﬂ
and P(E,) = 20% = 22

100
Also, given that 3%, 4% and 1% bolts manufactured by

machines A, B and C respectively are defective. So,

E 3 E 4
—|=3%=— — |=4% = —and
E, wo | E, 100

E 1

— =1 =—

E, 100

Now, firstly find the probability that selected bolt which
is defective is manufactured by machine B, is

SN

P(Ez)‘{ J
12 e {2 ]mszw’[ e

_x_

- 100 100
30 3 50 4 20 1

F—x—
100 100 100 100 100 100
200 200
90 + 200 + 2!} 31!]
. The probability that selected bolt which is defective is

not manufactured by machine B, is

j—p{Ba]_, 200 _116 1
E 310 310 31

— X —t—x—

EXAMPLE |6| Three persons 4, B and C apply for a job
of Manager in a private company. Chances of their
selection (4, B and C) are in the ratio 1:2:4. The
probabilities that A, B and € can introduce changes to
improve profits of the company are 0.8, 0.5 and 0.3,
respectively. If the change does not take place, find the
probability that it is due to the appointment of C.

[Delhi 2016]
Sol. Let us define the following events
A = selecting person A
B = selecting person B
C = selecting p-ersan C
2 4
A)= = and P(C) =
A4y = 1+2+4 - AB)= +2+4 4 HE) 1+2+4
= P(A)- —.P(B)y=-— andP(C:}-—

Let E = person 1nLruduce the Cha.nges in their profit.

Also, given F{E] =08, P(£]=ﬂ.5 and P(E] =03
A B C
= P[£}=1—03=112,P[£}=1-05=0.5
A B
and F{E]=l-l33=ﬂ.?'
C

The probability that change does not take place by the

appointment of C, _
E

)-Pl =
ere

(Ll o e

4
—=07
7

l>-:'E12+E>~:{l5+i:w:|l'lr'
7 7 7

28 28
- = — =7
02+10+ 28 4

EXAMPLE |7]| A letter is known to have come either
from TATANAGAR or from CALCUTTA. On the envelope, just
two consecutive letter TA are visible. What is the
probability that the letter came from TATANAGAR?
[NCERT Exemplar]
Sol Let E, = Letter has come from CALCUTTA
E, = Letter has come from TATANAGAR
and E = Two consecutive letters (i.e. alphabets) TA are

visible on envelope

_1 _1 E|_nEnE)_1

P(E,)= Py PE,)= 3 F{E_u] —Tl)— 7

[+ 7 pairs of consecutive letters are

CA, AL, LC, CU, UT, TT, TA]



EmdP[i]_n(EnEz)_E
E;) nE;) 8

[ 8 pairs of consecutive letters are

TA, AT, TA, AN, NA, AG, GA, AR]

o)
) s
E
TaEne

[using Baye's theorem]

1 2 2
_32%8 18 _2x1_7
1 1 1 2z  8+14 1
11,1 2 8+ 2 u
277 2 8 2x7x8

Hence, the probability that the letter TA came from
TATANAGAR is l
11

ax

TOPIC PRACTICE 3 |

OBJECTIVE TYPE QUESTIONS

1 The events E,, E,, .., E, represent a partition of

the sample space S, if

(a) E, mEj =¢i=# ji,j=12,3 ..n
(b) Ey,uE,u.._ JE, =58

(¢) P(E)>0foralli=123,..n
(d) All of the above

2 Let{E, E,, ., E,} be a partition of the sample

space S and Abe any event associated with S,
then
(a) P(A) = P(E;)P(A/E;) + P(Ey)P(A/E;) + --

+ P(E,)P(A/E,)

() P(4)= 3 P(E,)P(A/E))
i=1

(c) Both (a) and (b) (d) None of these

3 IfE, E,, ., E, constitute a partition of sample

space S and Ais any event of non-zero
probability, then P(E,/ 4) is equal to
@ P(E,)P(A/E))

m foranyi=123,..,n
Y P(E;)P(A/E})
f=1

() _PEPE/A)

- foranyi=1223,.,n
Y P(E;)P(A/E/)
j=1

) PEIPE/A)
P(A)
(d) None of the above

foranyi=123,..,n

SHORT ANSWER Type I1 Questions

4 Suppose that 5 men out of 100 and 25 women
out of 1000 are good orators. Assuming that
there are equal number of men and women,
find the probability of choosing a good orator.

[Delhi 2020]

5 Three machines E, , E; and E; in a certain
factory producing electric bulbs, produce 50%,
25% and 25% respectively, of the total daily
output of electric bulbs. It is known that 4% of
the bulbs produced by each of machines E, and
E, are defective and that 5% of those produced
by machine E; are defective. If one bulb is
picked up at random from a day’'s production,
then calculate the probability that it is
defective. [Foreign 2015]

6 Suppose a girl throws a die. If she gets 1 or 2,
she tosses a coin three times and notes the
number of tails. If she gets 3, 4, 5 or 6, she
tosses a coin once and notes whether a ‘head’ or
‘tail’ is obtained. If she obtained exactly one
‘tail’, what is the probability that she threw 3, 4,
5 or 6 with the die ? |CBSE 2018]

7 Abag contains 5 red and 4 black balls, a second
bag contains 3 red and 6 black balls. One of the
two bags is selected at random and two balls
are drawn at random (without replacement)
both of which are found to be red. Find the
probability that the balls are drawn from the
second bag. [All India 2019]

8 Abag contains 4 red and 4 black balls and
another bag contains 2 red and 6 black balls.
One of the two bags is selected at random and a
ball is drawn from the bag which is found to be
red. Find the prabability that the ball is drawn
from the first bag. [NCERT]

9 There are three coins. First is a biased that
comes up tails 60% of the times, second is also
a biased coin that comes up heads 75% of the
times and third is an unbiased coin. One of the
three coins is chosen at random and tossed, it
shows heads. What is the probability that it was
the first coin? [Delhi 2016C)

10 Abag X contains 4 white balls and 2 black balls,
while another bag ¥ contains 3 white balls and
3 black balls. Two balls are drawn (without
replacement) at random from one of the bags
and were found to be one white and one black.
Find the probability that the balls were drawn
frombagy. [All India 2016]



LONG ANSWER Type Questions

i

12

13

14

15

16

Bag I contains 3 red and 4 black balls and bag II
contains 4 red and 5 black balls. One ball is
transferred from bag I to bag II and then ball is
drawn from bag II. The ball so drawn is found to
be red in colour. Find the probability that the
transferred ball is black. [NCERT]

In answering a question on a multiple choice
test, a student either knows the answer or
guesses. Let 3/4 be the probability that he knows
the answers and 1/4 be the probability that he
guesses. Assuming that a student who guesses
the answer will be correct with probability 1/4.
What is the probability that the student knows
the answer, given that he answered it correctly?

A shopkeeper sells three types of flower seeds
A,, A, and A;. They are sold as a mixture, where
the proportions are 4 : 4 : 2, respectively. The
germination rates of the three types of seeds
are 45%, 60% and 35%. Calculate the probability
(i) of a randomly chosen seed to germinate.
(i) that it will not germinate given that the seed
is of type A;.
(iii) that it is of the type A, given that a randomly
chosen seed does not germinate.
[NCERT Exemplar]

A man is known to speak the truth 3 out of 5
times. He throws a die and reports thatitis L.
Find the probability that it is actually 1.

[Delhi 2014]

Alaboratory blood test is 99% effective in
detecting a certain disease ,when it is infact
present. However, the test also yields a false
positive result for 0.5% of the healthy person
tested (i.e. if a healthy person is tested, then
with probability 0.005, the test will imply he
has the disease). If 0.1% of the population
actually has the disease, then what is the
probability that a person has disease, given that
his test result is positive? [NCERT]

By examining the chest X-ray, the

probability that TB is detected when a person is
actually suffering is 0.99. The probability of an
healthy person diagnosed to have TE is 0.001.
In a certain city, 1 in 1000 people suffers from
TB. A person is selected at random and is
diagnosed to have TB. What is the probability
that he actually has TB? [NCERT Exemplar]

17

18

19

20

21

22

Two groups are competing for the position on
the board of directors of a corporation. The
probability that the first and the second groups
will win are 0.6 and 0.4, respectively. Further, if
the first group wins the probability of
introducing a new product is 0.7 and the
corresponding probability is 0.3, if the second
group wins. Find the probability that the new
product introduce was by second group. [NCERT]

An item is manufactured by three machines
A, B and C. Out of the total number of items
manufactured during a specified period, 50%
are manufactured on 4, 30% on B and 20% on
C. 2% of the items produced on A and 2% of
items produced on B are defective and 3% of

these produced on C are defective. All the items
are stored at one godown. One item is drawn at
random and is found to be defective. What is
the probability that it was manufactured on
machine A7 [NCERT Exemplar]

A doctor is visit to a patient. From the past
experience, it is known that the probabilities
that he will come by train, bus, scooter or by

other means of transport, are respectively

i, l LY and 3 The probabilities that he will be
10 510 5
1

late are l, lzmt:i —, if he comes by train, bus
4 3 12

and scooter respectively, but if he comes by
other means of transport, then he will not be
late. When he arrives, he is late. What is the
probability that he comes by train? [NCERT]

An insurance company insured 2000 scooter
drivers, 4000 car drivers and 6000 truck
drivers. The probabilities of an accident for
them are 0.01, 0.03 and 0.15, respectively. One
of the insured person meets with an accident.
What is the probability that he is a scooter
driver or a car driver? [Foreign 2014]

Suppose a girl throws a die. If she getsa 5 or

6, she tosses a coin three times and notes the
number of heads. If she gets1, 2,3 or 4, she
tosses a coin once and notes whether a head or
tail is obtained. If she obtained exactly one
head, then what is the probability that she
threw 1, 2, 3 or 4 with the die? INCERT]

A bag contains 3 red and 7 black balls. Two balls
are selected at random one-by-one without
replacement. If the second selected ball happens
to be red, then what is the probability that the
first selected ball is also red? [Delhi 2014C)



23

24

Ll L Sl

A card from a pack of 52 cards is lost. From the
remaining cards of the pack, two cards are
drawn and are found to be diamonds. Find the
probability of the lost card being a diamond.
[NCERT]

An urn contains 4 balls. Two balls are drawn at
random from the urn (without replacement) and
are found to be white. What is the probability that
all the balls in the urn are white? [All India 2014C]

HINTS & SOLUTIONS

(d) Hint By definition of partition of a sample space.

(c) Hint By the statement of theorem of total probability.
(a) Hint By the statement of Bayes theorem.

Let E, be the event that selected person is men and E, be

the event that selected person is women, E; and E, are
mutually exclusive and exhaustive event moreover

PE) = PE) =5,

Let E be the event that selected person is good orator.
5 1 25 1
KE/E)=—=—and P(E /E,)= —=—
100 20 1000 40
The probability of choosing a good orator,
P(E)= P(E,)x P(E [E,) + P(E,) x P(E | E,)
L1, 1 1 2413
2 20 2 2x40 B8O
Let A be the event that the picked up bulb is defective.

Let A,, A, and A, be the events that the bulb produce by
machines E,, E, and E, respectively.

Given, P(A,)=50% ==L pa)y=2sm=2-1
100 2 100 4

1

P(Ay)=25% = — =

By using total probability theorem,
P (getting a defective bulb)

= P(A, }-P[i]+ P(Az)-P[i]Jr P(A,)- P[i]
AJ Az AS

1 1 1 1 1 1
e — =X — =X —
2 25 4 25 4 20

50 100 B0 400
Hence, the probability that the picked up bulb is
defective, is 0.0425.

6. Let E, be the event that the girl gets 1 or 2

E, be the event that the girl gets 3. 4.5 or 6
and A be the event that the girl gets exactly a “tail’.

PE)=2=1

6
4 —
6 3

P[Ei} = P (getting exactly one tail when a coin is
1

Then,

| o

and P(E;)=

tossed three times)

-

_3
B
A ) . -
F{E—J = P (getting exactly a tail when a coin is
2
tossed once)
1
T2

Now, required probability

B S

7. LetE,, E, and A denote the following events

E, = first bag is chosen, E, = second bag is chosen and
A =two balls drawn at random are red.

Since, one of the bag is chosen at random.

P(E,) = PEy)= 1;
If E; has already occurred, ie. first bag is chosen.
Therefore, the probability of drawing two red balls in

5
this case = P {i] = _Cz =10

e, 36

3
Similarly, P| 2| = C2- 3
E,)] ‘c, 3

We are required to find P (E}
A
By Baye's theorem,
A
HEz} ! [_)
P E)_ £,
A

A A
P(E,}-P(E—]+ P(EQ}-P[E—

1 2

|

1 3 3 3
= —_ _
- 2 3 __72 _72_3
1 10 1 3 1w 3 13 13
2 3% 2 36 72 72 72

8. Solve as Example 3. [Ans. 2/3]



10.

Let the events be E, = Choosing first coin,
E, = Choosing second coin, E; = Choosing third coin
and A = Getting head

PE) = P(E,)= PE) =1

NowPA qﬂpi:EandPi=l
E, 100 E, 100 E, 2

. ,{E_. ] P(E,)P(AIE,)
LA P(E))P(AJE,)+ P(E,)P(AJE,)+ P(E,)P(A/E,)
14
- 3 100 -8

1 40

3100 3100 3 2

175 11 T ag

Let us define the following events
E, : Bag X is selected
E, :BagY is selected

and E : Getting one white and one black ball in a draw
of two balls.

Here, P(E,)=P(E,)=—
[ probability of selecting each bag is equal]

L. Probability of drawing one white and

MNow,
! one black ball from bag X
_'oyxic, _axz_ 16 8
- ¢,  6%X5 6x5 15
2x1
E . . .
and P[E_] = Probability of drawing one white and one
: black ball from bag ¥
_tcyxPc, 3x3 3
¢, 5 s
Z2x1

. Probability that the one white and one black balls are
drawn from bag ¥,

E
%) e { £
E E E
”El"’](s—l]”‘%“’[z]

[by using Baye's theorem]

1><3 3 3
=—2 5 .5 .5 . 3 _23
1 8 1_3 8 3 8+49 17
—X—t=%X= —+- — FxXx— 17
2 15 2 5 15 § 15 15

Let E; = Red ball is transferred from bag I to bag II
and E, = Black ball is transferred from bag I to bag II

50, E| and E, are mutually exclusive and exhaustive

events.
4
P(E, —=—and E)=—_2=1
y= +4 7 AE,) 144 7

Let E be the event that the ball drawn is red.
Then HE)o_4*l _5_1
E ) (4+1)+5 10

2

E 4 4 2

and = ===
E, 44(5+1) 10 5

*. Required probability,

e
REcmE e

v
5 7
1 3 2 4
— M=t ——
27 5 7
8 8
_ 3% _ 35 _8x14 1
_1+£_m5+112_ 217 31
14 35 14 %35

Hence, the probability that the transferred ball is black, is
16
T

12. Let E, =Student knowsthe answer

E, = Student guesses the answer
and A = Student answered correctly

3 1
S P(.El)= Zand HEE]:E

Naow, P[i] = P (student answered correctly, when

: he puesses)

T4

and P[Ei] = P (he answers correctly given that he

! knew the answer)

=1

. Required probabiliry

g
R

[using Baye's theorem]

3 3 3
— 1 - —
_ 4 4 __a
3 3 1 1241
Zx1 - —
4 4 16 16
_3 16
4 13 13

Hence, the probability that the student knows the

. . .12
answer, given that he answered it correctly, is —
1



13.

We have, A, : Az Aq —4 4:2

F(A, ]'— P{AZ)__ and P(As ]'—0
where A, A, and A, denote the event of choosing
flower seeds A;. A, and A;, respectively. Let E be the

event that a seed germinates and E be the event that a
seed does not germ.inale.

Then, L U i Pt
1007 A, ) w0 lAa,) 100

55 [EY) 40 E 65

and —_— — —_—=— —_—=—
Al 100 | A,) 100 [A,] 100

{1} Probability that a randomly chosen seed to germinate,

P(E)= P(A,)- [ ]+P(A )- P[—] +P(A,)- F{ ] 15.
4

4 45
=—x—+—x—+—x—
10 100 10 100 10 100

180 240 70 490

=t ——t ——=——=(49

1000 1000 1000 1000

(ii) P[i] 1-P[—]_1 B_5
A 100 100

S o R v R o

10 100
4 55 4 40 2 65
+ b

10 100 10 100 10 100

160 ll‘:ﬂ

_ 1000 _ 1000 _
220 160 130 510 =337 =0e

1000 1000 1000 1000

14. Let E be the event that the man reports that 1 occurs in

throwing of a die, E, be the event that 1 occurs and E, be
the event that 1 does not occur.

Then, P(E, ) = Probability that 1 occurs = -

P(E,) = Probability that 1 does not occur = =
E
}{—] = P(man reports that 1 occurs, when 1 has
E actually occured on the die)

= P (man speaks the truth) = ;

= P(man reports that 1 occurs, when 1 has not
occured on the die)
= P (man does not speak the truth)
3_2

=]--==

5 5

16.

-, Probability that the report of the man that 1 has

occurred is actually 1, is given by

(- e { £
e

[by Baye's theorem]

1><3 3
= 6 5 = 30 =i
1)(3 5.2 3 10 g3
6 5 6 5 30 30

3
Hence, the probability that it is actually 1 is 3

Let E, = Event that the person has disease
and E; = Event that the person is healthy.

Then, E, and E, are mutually exclusive and exhaustive

events.
FE))=01% = = 0.001

and P(E,)=1-0001= 0999

Let E : Event that test is positive.
E —
E,
99

=00 = =

100
E -
E!

=05%= £= 0005
100

F (result is positive, given that person
has disease)
0.99

P (result is positive, given that person does not

have disease)

Probability that a person has disease, given that test
result is positive, is given by

s
ereEmre

[by Baye’s theorem]

- 0.001 x 0.99
7 0.001 % 0.99 +0.999 x0.005
- 0.00099

~ 0.00099 + 0.004995

0.00099 _ 990 _ 110 _ 22

0.005985 5985 665 133

22
Hence, the required probability is o
1

Let E, be the event that person is suffering from TE and
E, be the event that person is not suffering from TB. Let
E be the event that the doctor diagnoses that person has
TB.



1
Then, P(E,)=—
(E,) 000
1 999
P(E;)=1= —=—
(E2) =1~ 1500 ~ 1000
E
P {E— =P (TB is detected when a person is actually
' 990 Suffering)
=099=——
1000

and P (E£]= P (TB is detected when a person is not
2

actually suffering)

=0.001= L
1000

P (A selected person has actually TB), is given by

E
E|\)-P|—
AE)P|

e

1 2

[by Baye's theorem]

1 990 990
1000 )1 1000 _ 1000000

TEDWEDTE 990 + 999
1000 /\ 1000 ~ | 1000 /{1000 1000000
_ 990 110

T 1989 221

Hence, the probability that a selected person has actually
110
is —.
221
17. Hint E, and E, be the events of first group and second

group wins and E be the new product is introduced.

Then, P(E,) = 0.6, P(E,) =04, }{Ei] =07
I
and ;{i] =03
E;
Determine P(i] by using Baye's I.heorem.rﬁns. E—l
E 75
18. Hint P(A) = 50%, P(B) =30%, P(C) = 20%,
p [E] - 2%, p(E) - 23, p[E)= 3
A B C

Required probability,

P(i)= 50% % 2% Ans.
D 50% » 2% 4+ 30% X 2% + 20% X 3% 11

19. Hint E;, =Doctor will come by train.
E, = Doctor will come by bus.

E, = Doctor will come by scooter.
E, = Doctor will come by other transport.
and A = Doctor will be late.

20.

21

Then, P(E,) = % P(E;)== P(E;)=

2 A 1 A 1
reo-io(g) (g
P(i]=;p[i]=g
E,] 127 |E,

Find P(i][z’ms. l]
A 2

Hint E, = Scooter driver, E, = Car driver,

W |
s|=

E, =Truck driver and A = Meets with an accident.

-‘-P(El}=%.P{Ezl=%.P{E31=%.

Pl A =001, P[22 =003 P[22 )= 015
El 'E2 'ES

Required probability,

: : 1 xo001+Lxo003

A A l><ll-j]1+l—:n:nl_l]|3+l><tl_15
& 3 2

[Amns. 0.019]
Let E, =Event that 5 or 6 is shown on die

and E, = Event that 1, 2, 3 or 4 is shown on die.
Here, n(E;)= 2andn(E,;)=4
Also, n{S)=6

2 1 4 2
EJj=2=2 and P(E,)===2%
BE)=—=3 PEg)=—=12

Let E = The event that exactly one head show up.

. P{i} = P (exactly one head show up when

! coin is tossed thrice)

3

= P{HTT, THT, TTH}=§

[ total number of outcomes = 2° = §]

E 1

P[E_} = P(head shows up when coin is tossed once) = 3
z

The probability that the girl threw 1, 2, 3 or 4 with the
die, if she obtained exactly one head, is given by

E
P(E)= P(Ez)'P(E—z}
E
A g
[by Baye's theorem]

x

| e
b | =

§+3 11

1
_ 3 _ 8 _8
+

2 1 1 1
oM — ——
372 8 3

1_3
3 8



22. Hint E, = First ball is red
E, = First ball is black
and A =Second ball is red

3 7 A
P (E) =5 P(E)) = p[_}=

, E,P[i}g
w Ve ) o \E) o
A
P{E,]XP(—]
A
P{Elle[Ei]+P{E2)xP[Ei]

23. Hint E, = Missing card is diamond
E, = Missing card is not diamond
and A =Drawing two diamond cards from the
remaining cards

1 3

SP(E)==P(E;)==,

(E) =7 P(E)=+
P i =Exﬂ‘
E, )] 51 50

A} 13 _12
Pl=|==x=
E,] 51 50

|TOPIC 4|

1 2

P(E,)x P (i}
P (%) = " E - [Ans. %]
FP(E,)x Pl — |+ P(E,)x P| —
e &) raea[)
24. Hint E, = There are two white and two other colour
balls in the bag
E, = There are three white and one other colour

balls in the bag
E, = There are all white balls in the bag

and A =Drawing two white balls from the bag

P(E)=P(Es)=P(Es)=7

plA) Gy (Al et
E ) 'c, 6 E,) ‘c, 2
A} ‘c
and P| —|=—2=1
ES- CZ

Now, find p(E—;} [Ans. g]

Random Variable and Its Probability Distribution

RANDOM VARIABLE

A random wvariable is a real valued funcrion, whose domain
is the sample space of a random experiment. Generally, it is
denoted by capital letter X. Also, more than one random
variables can be defined on the same sample space.

e.g. Ler a coin be rossed rwice.
Then, sample space, S = {HT,TH, HH,TT}

If X denotes the number of heads in two tosses, then X isa
random variable and for each outcome, its value is

X(TT)=0,X(HT)=1, X(TH)=1and X(HH)=2
Clearly, values of X are 0, land 2.

Let ¥ denotes the number of heads minus the number of
tails for each outcome of the above sample space § and for
each outcome, its value is

Y(HH)=2-0=2,

Y(HT)=1-1=0,
Y(TH)=1-1=0
and Y(IT)=0-2=-2

Thus, X and V are two different random variables defined
on the same sample space S.

EXAMPLE |1| Abag contains 2 black and 1 green balls.
One ball is drawn at random and then put back in the box
after noting its colour. The process repeated again. Let X
denotes the number of green balls recorded in the twao
draws, describe X.

Sol. Given a bag contains 2 black and 1 green balls. Black
balls are denoted by b, b, and green ball is denoted by

g, then the sample space for two draws is
5 ={bb. bb,, byby, byby. bygy. bagy. @by, g@iba, g1}

Now, X denotes the number of green balls.

Then,
X(bb)=X(bb,)=X(b,b )= X(b,b,)=0,
X(bg)=X(bg)=X(gh)=X(gh)=1

and X (g ) =2

Hence, X is a random variable whose range is {0, 1, 2}.

Probability Distribution of a
Random Variable

The system in which the values of a random variable are
givcn slong with their corresponding probabili[y, is called
probability distribution.



If X is a random wvariable and takes the wvalues of
X1s X3, X3,..., X, With respective probabilities

ProPas Pareces Py
Then, the probability distribution of X is represented by

X X X X3 - Xy

P p | e | s | |

"
where p; >0 and ZP:- =L;ir=123..n

i=l
Note If x; is one of the possible values of a random variable X, then
statement X = x; is true only al some point(s) of the sample space.
Hence, the probability that X takes value x; is always non-zero, ie.
A(X =x)=0

EXAMPLE |2| Two cards are drawn successively with

replacement from a well-shuffled deck of 52 cards. Find

the probability distribution of the number of aces.
[NCERT]

Sol. Let the number of aces is a random variable denoted by
X. Here, two cards are drawn. Let A denotes an ace card
and B denotes a non-ace card, then sample space for two
cards is § = {AB, BA, AA, BB}.

Then, X (AB)=1, X (BA) =1, X (AA) = 2and X (BB) = 0.
So, X takes the values 0, 1 or 2. Since, the draws are
done with replacement, two draws form independent
experiments.
48 48 144
- P(X=0)=P(BB)=P(B)x P(B)= —x —=—
[ in 52 cards, 4 aces and remaining 48
are non-ace cards]
P(X =1) = P(AB or BA)= P(AB) + P(BA)
= P(A)- F(B) + P(B)- F(A)
4 48 48 4 12 12 _ 24
Xt — X —m = 2

52 52 52 52 169 169 169

4 4 1
and P(X = 2) = P(AA) = P(A)-P(A) = — x —=—
P )= P(AA) = P(A)-P(A) = “ 2\
Hence, the required probability distribution is
X 0 1 2
Py | 144 | 24 |

169 169 169

Verification Sum of probabilities,
< 144 24 1 144+ 24 +1 169
EPJ = = = =1
169 169 169 169 169

i=1

EXAMPLE |3| From a lot of 15 bulbs which include
5 defectives, a sample of 2 bulbs is drawn at random
(without replacement). Find the probability distribution
of the number of defective bulbs. [Delhi 2015C]
Sol. Total number of bulbs =15
Number of defective bulbs = 5

= Good bulbs =15=5=10
Let X be the random variable of number of defective

bulbs.
X =012
Ax=0=2x2_2
15 14 21
pxmn)=10y 5, 5,00 10
15 14 15 14 21
5 4 2
NX=2=——=—
A ) 15 14 21
. Required probability distribution table is
X 0 1 2
oy | & 1| 2
) 21 21 21

Mean of a Random Variable

Let X be a random variable taking values x;, x5, x3,...,x,
with probabilities p,, p5, p3....,p,, respectively. Then,

mean of X denoted by n is the number in-p-_-, ie. the
=l

mean of X is the weighted average of the possible values of

X, each value being weighted by its probability with which

it occurs. It is also called the expecration of X, denoted by

E(X).

Then, E(X)=p= Ex_,-pj =x pHxg Pt p,

il
Thus, in other words we can say that the mean or
expectation of a random variable X is the sum of the
products of all possible values of X by their respective
probabilities.

Note
(i) Mean is a measure of location or central tendency in the sense

that it roughly locates a middle or average value of the random
variable.

(i) Random variables with different probability distributions can
have equal means.

METHOD OF FINDING MEAN
OF A RANDOM VARIABLE
Suppose a random experiment is given to us, then to find
mean and variance of a random variable associated with
random experiment, we use the following steps
I. First, identify the random variable (say X} associated
with given random experiment and then find all
possible values x|, x;, x5,..., which X can rake.
II. For each value of X obtained in step I, find the
probability.
III. Write the probability distribution rable for random
variable X.



IV. Calculate mean by using the formula, mean
X= Ex; plx;) i.e. multiply each value of x; by
=1
the corresponding probability and then find their
sum to get required mean.

EXAMPLE |4| The random variable X can take only
the values 0, 1, 2, 3. Given that P(X =0)=P(X =1 =p
and P(X =2) = P (X =3) such that Ep,;x’ = 25p, x;, find
the value of p. [Delhi 2017]
Sol Given, X =0,1,2, 3and

P(X=0)=P(X =1)=p, P(X=2)=P(X=3)

such that Ep,x} =25p,x,

Now, Ipi=l=p+p+ps+ps=l

= ptp+x+x=1

[let P(X = 2) = P(X =3)= x]
= 2p+2r=1=2x=1—2p=x=%ﬂ

The probability distribution of X is given by

X=x | 0 1 2 3
P, p p | 1z2p | 12p
2 2
Now, Ep:-x,-z =2Epx;

= Po¥y + PX; + PaXs + paxsy
=2[paxy + prxy + P2z + pixs]
= px0+px1? +ﬂﬂx{2)2 +£Ex(3)2
2 2

=2[pxﬂ+px1+1_2sz2+1-;ﬂx31

= p+(1-2p)x 2+{1—2p)x§

=2[p+{1—2p]+(1-2p)><%]

=&P+2—4F +%-9P=2[P+1—2P+%-3P]

= —12p+2+2=2 —«4;:;+1+1
2 2
= -12p+E=2 -4p+£
2 2
13
= —12p+8p=5—;
= -4 -—2=&4 -2
P 2 P 2
P'3
8§

EXAMPLE |5] In a game, a man wins ¥ 5 for getting a
number greater than 4 and loses ¥ 1 otherwise, when a fair
die is thrown. The man decided to throw a die thrice but to
quit as and when he gets a number greater than 4. Find the
expected value of the amount he wins/loses.
[All India 2016]
Sol Let X be a random variable that denotes the amount
received by the man. Then, X can take values 5, 4, 3
and -3,
Now, P(X =5) = P (getting a number greater than 4 in
. the first throw)
3
F(X =4)= P (getting a number less than or equal to 4 in

the first throw and getting a number greater than 4 in
the second throw)

-y

4 2 2
= == -
6 6 9
P(X =13) = P (getting a number less than or equal to 4 in

first two throws and getting a number greater than 4 in
the third throw)

and P(X = =3) = P(getting a number less than or equal
to 4 in all three throws)

44 4 8
=—W—X—=—
6 6 6 27
Thus, the probability distribution of X is
X 5 4 3 -3
Px=x) | 1 2 1A &
3 9 27 27
Now, expected value of the amount
1 2 4 8
=E(X)=EZx;p, =5-—+4-—+3-—-3-—
3 9 27 27

_45+24412-24 57 19

27 2]
EXAMPLE |6]| Two cards are drawn simultaneously

(without replacement) from a well-shuffled deck of 52
cards. Find the mean of number of red cards.
Sol Here, we have to drawn two cards simultaneously from a
deck.
Let X denoctes the number of red cards (since mean and
variance of red card to be calculated here), then X can
take values 0 (no red card), 1 (one red card) and 2 (both

red cards).
26

For X =0, F(X =0) = P(getting no red card) = sz_cz
C,
[ there are 26 red and 26 black cards in a deck]

26 x 25
_2xl 1 25 25
52x51 2 51 102

2x1



For X =1, P(X =1)
= P{getting one red and other black card)

_¥e x Mo, _26x26x2_26
*2c, 52x51 51
26 x 25
e, 2x1 25
ForX=2 A(X=2)=—rt=—" ="
52;:'2 52x51 102
2x1

The required probability distribution is

X 0 1 2

P(X 25 26 25

) 102 51 102

We know that mean, X = Ex,- plx;)

i=1

X={oxE)s[1x2)sf2xE
102 51 102
—04+26,30_2 .2 _51_,
51 102 51 51 51
Hence, mean =1

EXAMPLE |7| Two numbers are selected at random
(without replacement) from positive integers 2, 3, 4, 5, 6
and 7. Let X denotes the larger of the two numbers
obtained. Find the mean of the probability distribution
of X. [Foreign 2015]
Sol The total number of pairs will be formed by taking two

numbers at a time = 11‘IZ', * SIZ'l =30

Let X denotes larger of the two numbers be obtained.

Obviously X may have values 3, 4, 5, 6 and 7.

Now, (X =3)= P[getting (2,3), (3.2) out of 30 pairs]

2 1

30 15

P(X =4)= F [getting (2.4), (3.4), (4.2). (4.3) out of 30
is] =4 =2

pairs] = 20 =15

P(X =5) = P [getting (25), (5.2), (3.5). (5.3 (4.5).(5.4) out

of 30 pairs]

P(X =6) = P [getting (2,6), (6.2). (3.6), (6.3). (4.6).(6.4),
(5,6), (6,5) out of 30 pairs]
8 4

= g = E

P(X =7) = P [getting (2.7), (7.2), (3.7). (7.3), (4.7). (7.4),
w5

5,7), (7.5), (6,7), (7,6) out of 30 pairs] = —=—

(5.7), (7.5), (6.7), (7.6) out of 30 pairs] = 2=

Therefore, required probability distribution is

X 3 4 5 6 7
P(X) 115 | 2156 | 3115 | 4115 | 5/15

» Required mean = pu = Zx;p,
=3->¢:1—+4>':i+5><i-ns|><i+i'>-:i
15 15 15 15 15
3 8 15 24 35 8 17
S —t ==
15 15 3

15 15 15 15

EXAMPLE |8| An urn contains 4 white and 3 red balls.
Let X be the number of red balls in a random draw of
3 balls. Find the mean of X.
Sol. When 3 balls are drawn at random, there may be no red
ball, 1 red ball, 2 red balls or 3 red balls.

Let X denotes the random variable showing the number
of red balls in a draw of 3 balls.

Then, X can take the values(, 1, 2 or 3.
P(X =0) = P (getting no red ball)

= P (getting 3 white balls)
=‘C,=[4x3x2x3x2xl]=i
e, \3x2x1 7Txex5) 35

P(X =1) = P (getting 1 red and 2 white balls)

_Gix 'y _(3x4x3 3x2x1)_18
Cy 2 Tx6x5) 35
P(X = 2) = P (getting 2 red and 1 white balls)

lo,xc
'.I'C-3
(3)(2 3x 2x1] 12
=l e X N e | = —
2x1 Tx6x5 35

Cy_3x2x1_1

X =3) = P(getting 3 red balls) = =—
" )= Pgetting 3 re J c, 7x6x5 35

Thus, the probability distribution of X is given below

X=x 0 1 2 3
£ 1B 2 L
P 35 35 35 35

5 Mean, | = Zx;p;
=(I|:«:i+1>¢:E+2)':E+3><L=4—5=2
35 35 35 35 35 7

TOPIC PRACTICE 4 |

OBJECTIVE TYPE QUESTIONS

1 Let X represent the difference between the
number of heads and the number of tails
obtained when a coin is tossed 6 times. Then,
the possible values of X are
(2)0,1,3,5 (b)0,1,2,3
(c)0,1,2, 4 (d)0,2,4,6



2 The probability distribution of a discrete

random variable X is given below

X 2 3 4 5
5 7 9 11
POk K K | %
The value of k is [NCERT Exemplar]
(a) 8 (b) 16
(c) 32 (d) 48
For the following probability distribution.
X | - 4 -3 | - 2 -1 | 1]
PX) 0.1 0.2 0.3 0.2 0.2
E(X)is equal to [NCERT Exemplar]
(a) 0 (b) -1
(c) -2 (d)-18

The mean of the number obtained on throwing
a die having written 1 on three faces, 2 on two
faces and 5 on one face is [NCERT]

(@1 )2 (©)5 (mg

VERY SHORT ANSWER Type Questions
5 Anurn contains 6 red and 3 black balls. Two

balls are randomly drawn. Let X represents the
number of black balls. What are the possible
values of X7

State whether the following distribution is a
probability distribution of a random variable or
not.

X 3
PX) 03

2
D2

1
0.4

0 -1

0.1 0.05
[NCERT]

SHORT ANSWER Type II Questions
7 Find the probability distribution of X, the

number of heads in a simultaneous toss of two

coins. [All India 2019]

8 The random variable X has a probability

distribution P(X) of the following form, where

‘k'is some number.

Jk, if.r:Ol
2k ifx=1
PIX=X) =13} ifx=2

0, otherwise

Determine the value of ‘k'. [Delhi 2019]

10

1

12

13

14

16

17

18

Two numbers are selected at random (without
replacement) from the first five positive
integers. Let X denotes the larger of the two
numbers obtained. Find the mean of X.

[CBSE 2018

A biased die is such that P(4) = % and other

scores being equally likely. The die is tossed
twice. If X is the ‘number of four seen’, then find
the mean of the random variable X.

[NCERT Exemplar]

3 defective bulbs are mixed up with 7 good
ones. 3 bulbs are drawn at random. Find the
probability distribution of defective bulbs.

A coin is biased so that the head is three times
as likely to occur as tail. If the coin is tossed
twice, find the probability distribution of
number of tails. Hence, find the mean of the
number of tails. [Delhi 2020]

Three cards are drawn at random (without
replacement) from a well-shuffled pack of 52
playing cards. Find the probability distribution
of number of red cards and also find the mean
of the distribution. |Foreign 2014]

Three cards are drawn successively with
replacement from a well-shuffled pack of 52
cards. Find the probability distribution of the
number of spades. Also, find the mean of the
distribution. [All India 2015]

Two cards are drawn simultaneously (or
successively without replacement) from a well-
shuffled pack of 52 cards. Find the mean of the
number of kings. [Delhi 2019]

From a lot 30 bulbs, which includes 6
defectives, 3 bulbs are drawn one-by-one at
random with replacement. Find the probability
distribution of number of defective bulbs.
Hence, find the mean of the distribution.

[All India 2017C]

A coin is biased so that the head is 2 times as
likely to occur as tail. If the coin is tossed twice,
find the probability distribution of number of
tails. Hence, find the mean of the distribution.
[Delhi 2016C)

In a meeting, 70% of the members favour a
certain proposal, 30% being opposite. A
member is selected at random and let X =0, if
he opposed and X =1 if he is in favour. Find
E(X). [NCERT]



19

20

Suppose 10000 tickets are sold in a lottery
each for T 1. First prize is of ¥ 3000 and the
second prize is of ¥ 2000. There are three third
prizes of ¥ 500 each. If you buy one ticket, then
what is your expectation? [NCERT Exemplar]|

There are 4 cards numbered 1, 3, 5 and 7, one
number on one card. Two cards are drawn at
random without replacement. Let X denotes
the sum of the numbers on the two drawn
cards. Find the mean of X. [All India 2017]

LONG ANSWER Type Questions

21

22

23

24

26

27

The probability distribution of a random
variable X is given as under
kx®, x=1273
P(X=x)={2kx, x=4,586
0, otherwise
where k is a constant. Calculate
(i) E(X)

i) P(X = 4) [NCERT Exemplar]

Arandom variable X has following
probability distribution.

X |o0/1]|2|3|4 5|6 7
PX)| 0 | k |2k |2k | 3k | K |26 | TK® + k

Find (i) k (ii) P(X < 3)

(fii) P(X =6) (iv) P(0 < X < 3). [All India2011]

Let X denotes the sum of the numbers
obtained, when two fair dice are rolled. Find
the mean of X. [NCERT]

There are 5 cards numbered 1 to 5, one number
on one card. Two cards are drawn at random
without replacement. Let X denotes the sum of
the numbers on two cards drawn. Find the
mean of X. [NCERT Exemplar]

A coin is biased so that the head is 4 times as
likely to occur as tail. If the coin is tossed
thrice, find the probability distribution of
number of tails. Hence, find the mean of the
distribution. [All India 2017C]

An urn contains 3 white and 6 red balls. Four
balls are drawn one-by-one with replacement
from the urn. Find the probability distribution of
the number of red balls drawn. Also, find mean
of the distribution. [Delhi 2016]

Two numbers are selected at random (without
replacement) from the first six positive
integers. Let X denotes the larger of the two

28

numbers obtained. Find the probability
distribution of the random variable X and also
find the mean of the distribution.

[NCERT: All India 2014]

Three numbers are selected at random (without
replacement) from first six positive integers. Let
X denotes the largest of the three numbers
obtained. Find the probability distribution of X.
Also, find the mean of the distribution.

[All India 2016]

HINTS & SOLUTIONS

(d) Let M denotes the number of heads and N denotes the
number of tails when a coin is tossed 6 times.

Given, X = Difference between Mand N =| M = N |

rrrrrr

M + N is always equal to 6.
Look at the following table
M 0 1 2 3 4 5 6
N 6 5 4 3 2 1 0
X| 6|4 |2|0|2]|4a]6s
Thus, we see that X takes values 0, 2, 4 and 6.
{c) We know that ZP(X) =1

5079 11 32
= —t—t—t—=1= —=1
k k k k k
k=32

(d) E(X)=ZIX P(X)
==4x(01) 4+ (=3x02)+(=2x03)
+(=1x0.2)+(0x0.2)
==04=-06=06=02==18

(b) Let X be the random variable representing a number
on the die.

The total number of observations is six.

1

Ax=1=2=L px=2=2=Land px=5)=1
6 2 6 3 -]

Thus, required probability distribution of X is as follows:

X 1 2 5
1 1 1

P - - -
i 2 3 6

MeanX=EXP(X]=1Xl+2xl+5XL
2 3 (3

Here, two balls are drawn, so possible values of X are 0,
land 2.

Hint ¥ p, =105 [Ans. No]



7. When two coins are tossed, there may be 1 head, 2 heads Now, mean of X = E(X)=Z X-P(X)

or no head at all. - 1 5 2 4 3 5 4
Thus, the possible values of X are 0, 1 and 2. - ‘E+ -E+ lﬁ_'— E
. 1
Now, (X =0) = P (getting no head) = P(TT) = ; = l{2+5+12+20]
10
. 2_1 40
P{X=1)=P{gﬂtmgonehead]zP{HTGI‘TH)=4—=E = =4
10
. 1
F(X = 2) = P (getting two heads) = P(HH) = n 10. Since, X = Number of four seen on tossing two dice,
Thus, the required probability distribution of Xis X=01,2
1 9
I Also, P(4)= — and P(not 4) = —
X 0 | 1 | 2 so. P(4) 0" (not £) 10
1 1 1 9 9 81
Py - | = | = So, P(X =0) = P(not 4)- P(not 4)= —- — = ——
| 2 4 A )=H A 10 10 100
k., ifx=0 P(X =1)= P(not 4)- P(4) + P(4)- P(not 4)
8. Given P(x=x)={2 1X=1 _21,12. 1
- Bx=s 10 10 10 10 100
0, otherwise - .
R . P(X=2)=P4)-Pd)=—-—=—
Making it in tabular format, we get the following )= P(4)-P( 0 10 100
X o 1 - otherwise Thus, we get the following table
P K 2k 3k 1] T AW
X 4 Q 1 2
Since, sum of all probabilities is equal to 1. PO 81100 181100 1100
IP(X =x)=1 x)
= P(X=0)+PX=1)+PX=2)+0+0+.. =1 81 18 1
Now, meanof X = P(X)=0xX — +1 X —+ 2x —
e k+2k+3k=1 AX) 100 100 100
= ok =1 20 1
. el “073
6 1. Given, defective bulbs =3 and good bulbs =7
9. Total number of possible outcomes Here, total number of bulbs =3 + 7 =10
=5Pz _5t Sxd = 90 Let X denotes the number of defective bulbs.
3! Then, X takes the values 0,1, 2and 3.
Here, X denotes the larger of two numbers obtained. . ;
i Now, P{X =0)= F (gett 0 defective bulb
- X can take values 2, 3, 4 and 5. ow, F( ) (getting 0 defective bulb)
) 2 i . TH6XS5
Now, P(X = 2) = P {getting (1, 2) or (2, 1]}=5=E =(3CDXTC3:}= 3x 2x1
P(X =3) = P {getting (1, 3) or (3, 1) or (2, 3) or (3, 2)} e, 10x9x8
4 2 Fx2x1
T _Ixexs _ 7
P(X =4) = P{getting (1, 4) or (4, 1) or (2, 4) or (4, 2) 1W0x9x8 24
6 3 or (3, 4) or (4, 3)} P(X =1)= P(getting 1 defective bulb)
20 10 e x’cy)
and P{X =5)= P {getting (1, 5) or (5, 1) or (2, 5) or (5, 2) pas
or (3, 5) or (5, 3) or (4, 5) or (5, 4)} ( 7% 6)
8 4 3%
g 2x1
20 10 I reee——
Thus, the probability distribution of X is [M]
Ix2x1
X 2 3 4 ° IxTxex3 21
P | L 2 3 - SXT2ox3 2
10 10 10 10 10xIx3 40




12,

13.

14.

F(X = 2)= P (getting 2 defective bulbs)

3X2x?

_Ce,x"c)_lexa
e, W09 %8
Ix2x1

10x9x8 40
P (X =3) = P (getting 3 defective bulbs)
oy’ 0 1xa

e, 10%9%8
Ix2x1

_3x2xTx3_7

_3x2x1 _ 1
1Wx9x8§ 120
. Required probability distribution as follows
X 0 1 2 3
PX) 7/4 | 21140 | 7/40 | 11120

Let X be the random variable which denotes the number
of tails when a biased coin is tossed twice.

So, X may have values 0, 1 or 2.

Since, the coin is biased in which head is 3 times as
likely to occur as a tail

P(H) = %and AT) =i

P(X = 0)= P(HH) = P(H)- P(H) = [43] _2

P(X =1)= P (one tail and one head)
= P(HT, TH)= P(HT )+ P(TH)
=P(H)-P(T)+ P(T)-P(H)
3 1 1 3 3 3 6 3
+ +—= =
4 4 4 4 16 16 16 8
P(X = 2) = P(two tails) = P(TT) = P(T)- A(T)

(1Y .1
4 16

Therefore, the required probability distribution is as
follows

X 0 1 V2
Pix) 9/16 a/s 1/16
Now, mean = X P(X)
=l}xi+1x3+ 2><L=0+3+1=4—=l
8 16 8 8 8 2
Similar as Example 6.
Ans.
X 0 1 2 3  ,Mean=15
P(X) | 2117 | 13/34 | 13/34 | 217

Let X be a random variable that denotes the number of
spades in a draw of three cards. So, X can takes values 0,

1. 2 and 3.

15.

39 39 39
Now, P(X =0)= P(no spade) = — x — x —

52 52 52
[ cards are drawn with replacement]
3 3 3 27
= X W - —
4 4 4 64

P(X =1) = P (one spade and two non-spade)
= P (I card is spade, IT and III cards are non-spade)
+ P(I card is non-spade, II card is spade

and I1I is non-spade) + P (I and II cards are
non-spade and III card is spade)
13 39 39 39 13 39 39 39 13
=M M KM — X — K —
52 52 52 52 52 52 52 52 52

1 3 3 27
=3 —-X=X—=|=—
[4 4 4) 64

P(X = 2) = P (two spade and one non-spade)
13 13 39 13 39 13 39 13 13
= o X d X x—4+_x_—x=
52 52 52 52 52 52 52 52 52
= 3(l b4 l o4 1] = i
4 4 4 64
» P(X =3)= P (all are spade cards)
13 13 _ 13 _1 1 1 1
S e e E e = ==
52 52 52 4 4 4 o4
Thus, the required probability distribution is as follows
X |0 1 2 3
P(X) | 27/864 |27/64 9/64 | 1/64

Now, mean of above distribution is given by

i"" P(X =x)
x=0
0-PA(X=0)+1-P(X=1)+2-P(X=2)+3-PH(X=13)

=|},£+1.£+ 2.1+3.L
64 64 64 64

_ 2741843 48 3

64 64 4
Let X be the number of kings obtained.

E(X)

We can get 0, 1 or 2 ]cings_“

So, value of Xis 0, 1 or 2.

Total number of ways to draw 2 cards out of 52
ie. Total ways = HCZ =1326

PX =0)

i.e. probability of getting 0 king

Number of ways to get 0 king

= Number of ways to select 2 cards out of non-king cards
= Number of ways to select 2 cards out of (52 - 4)
= 48 cards

=*%c, =1128

Number of ways to get 0 king _ 1128
132

P(X =0)=
Total number of ways

F(X =1)ie. probability of getting 1 king



16.

17.

Number of ways to get 1 king
= Number of ways to select 1 king out of 4 king cards
x number of ways to select 1 card from
48 non-king cards
=1, x %,
=4 % 48=192
PX=1)= Number of ways to get 1 king = 1139226

Total number of ways
P(X = 2), ie. probability of geeting 2 kings
Number of ways to get 2 king
= Number of ways of selecting 2 kings out of 4 king cards
='c,=¢

6
X=2=—
A ) 1326

Now,u=E(X)= .E Xip;

i=1

1128 192 6
* +2x

=0xX —+1x — e

1326 1326 1326
192412 204 34
1326 1326 221

Hint Let X denotes the number of defective bulbs drawn.
Then, P (getting defective bulbs) = !

P (non-getting defective bulbs) =

Wk

and

X=0123

4 4 4 o6d
Now, PFX=0)=—x—-x—=—
5 5 5 125
4 4 48
X=1)=3u—-n——=—
R ) 5 5 12
1
5

5
12

125

1. 1.1 1
X=3)=-x-m—=—
A ) 5 5 5 125
i\'iea.n=£+2 5

125 125

4

AX= 2)=3x;x x

1
5
1
5

[ 3]
o LAns. Mean =EJ

Here, P(head) = ; P(tail) = ;
Let X be the number of tails in two tosses.
Then, X =0,1, 2

X
P(X)

| R
*
-+
S e
=
L | ha
n
s
W=
| = m
o] =

LM
b3

o wlh o
n
wl =
G| =

XP(X)

4/9 2/9

. Mean = ZXP(X)
2
3

6
9

18.

19.

20.

21

Hint
X 0 1
P(X) 310 7110
7
rA_ns. E(X)= —-I
| 10]
Hint
X 0 500 2000 3000
P (X) 9095 3 1 1
10000 | 10000 | 10000 | 10000
PX, 0 1500 2000 3000
10000 | 10000 | 10000

= E(X) = ZXP(X) [Ans. 0.65]
Here, 5 ={(1. 3), (1. 5). (L. 7). (3. 1)
(3.5).03,7), (5. 1), (5. 3). (5, 7). (7. 1), (7, 3), (7. 5)}
= n(5)=12
Let random variable X denotes the sum of the numbers

on two cards drawn. So, the random variables X may
have values 4, 6, 8, 10 and 12.

2 1
ALX =4, P(X)= ==~

AtX =6 P{X)=1—=

2
AtX=10, B(X)===
12

Atx=1zp(x)=32=
1

Therefore, the required probability distribution is as

follows

X | 4|6 |8|10]12
PX) ye |16 |13 16 | 1/6

. Mean, E (X) =X P(X)

1 1 1 1 1
=4 X —+b6X—+B8X— +10X—+12x -
[ 6 3 ] 6

2 8 5 24845 15
=l bl oo 2= T 4=y
3 3 3 3 3
=543=8
The probability distribution table for given function is
X |12 3 465 6 | otherwise
P{X)| k | 4k | 9k | 8k 10k | 12k 0

We know that £F, =1
k+4k +9k + 8k + 10k +12k +0=1

= =l-ak=l='.~k=L
44



22,

23.

(i) E(X)=ZX-P(X)
=1xk+2x4k+3x9% +4 x8k+5x10k

+6x12k+0
=k + 8k + 27k + 32k + 50k + 72k

=190k

{ii) (X =4)=P(X =4)+ P(X =5)+ P(X =6)
=30J:=30><L=0ﬁ3
44
Hint Use ZF(X) =1

[Ans. (i) 1/10 (i) 3/10 (iii) 17/100 (iv) 3/10]

Let X denotes the sum of the numbers obtained when two
fair dice are rolled. So, X may have values 2, 3,4,5,6,7, 8,
9,10, 11 or 12

[as 1 cannot be the sum of two numbers on fair dice]

1
PX=2)= P01} = .
P(X=3)=P{L2), 21} ==,

36

P(X =4) = P{(1,3),(2, 2), 3 1)} = :—6
P(X =5) = P{(1,4),(2 3), (3, 2), (4, 1)} = :_6,
P(X =6)= P{(1,5).(24),(3,3), (4. 2). (5. )} = %
P(X =7)=P{(1,6).(2 5). (34). (4,3), (5, 2). (6, 1)}= :_6
P(X =8) = P{(2,6).(3 5), (4,4). (5.3), (6 2)} = :_5 _
P(X =9)= P{(3 6).(4,5), (5 4), (6 3)} = 3“—&
P(X =10) = P{(4, 6),(5, 5). (6. 4)} = %

P(X =11) = P{(5. 6).(6 s);=%m

P(X =12) = P{(6, 6)} = 31_5

The probability distribution of X is represented by

X | 2|3 |4 5|68 7|8 [h9vi10| 11 |12

|
1|2 B |
P 2= =
% | % 36

2
36 6

gle
8o
8=
8

il
36

8w

Mean, X = ZX A X)

[2%1+3x2+44%x345x4+6X5+7 %6 |
_|+8x549x4+10x3411x 24121

36
_[246+412+ 20430442+ 40+36+30422+12)
36

24.

(L2).(21).(1.3).(31).(2.3).(3.2).

Here, § = }(14),(41),(15), (51).(2:4),(4,2).(25),
(5.2),(3.4),(4,3).(3,5),(5.3).(54),(4.5)

= n(5)=20

Let random variable X denotes the sum of the numbers

on two cards drawn. So, the random wvariables X may
have values 3, 4, 5,6, 7, 8and 9.

2 1
AtX =3 P(X)=—=—,
3 P0= 2=

2 1

AtX =4 P(X)=—=—
AX) 20 10

4 1

AtX =5 P(X)=—=-,
5 F(X) 5=

4 1
AtX:ﬁpP(x]:-:-
20 5
Atx=1p(x]=i=£_
20 5

20 10

AtX =9 pX)=2=2L1
20 10
Therefore, the required probability distribution is as

follows

X a \% 5 | 6 | 7| 8 | o
"N 1 1 1 1
P(_X}A‘._a‘m_s 5 5|10 | 10

o Mean, E(X)= EX P(X)

=3xL+4x1—+5x l+6xl+?xl+3xi+9xl
10 10 5 5 5 10 10

=3+4+10+l2+14+8+9

10
= ﬂ =5
10
1 1
25. Hint P (head) - 4P (tail) = HH) = =, AT) = ¢
X
(Number of tails) | ° 1 2 3
64 48 12 1
P 2 = - _
) | 125 125 125 125
48 24 3
XP —_ —
) 125 125 125

75
. Mean = EXP(X)=—
) 125

[Aus. Mean = 2]
5



26.

and

g = probability of getting a white ball = 2

Let X denotes the number of red balls in four draws.
Then, X can take values 0, 1, 2, 3 and 4.

Now, P(X =0) = F (no red balls) = P (all black balls)

1.1 1.1 1
=X =X=X==

37333 81
P(X =1) = P (one red and three blacks balls)

2. 1. 1.1 1 2 1.1 11
=iX-K-Kmd —X =X =X=—t =X~
3 3 3 3 3 3 3 3 3 3
+lxlxlx£=4xi
33 3 13 81
P(X =2)= P (two red and two black balls)
4 24
=6K—=—
81 81
P{X =3)= P (three red and one black ball)
8 32
=4 ¥ —=
81 81
16 16
P(X =4)=P(allred balls) =1x— = —
81 81
Hence, the probability distribution is shown below
X a 1 2 3 4
Px)| 1 | 8 241 321 18
gl 8l | 8 8 | B
Now, mean of distribution, E(X) = EX. P(X)
8 24 32 16
=0-—+l-—+2-—43-—+4-—
81 1 81 81

=8L[0+3+4s+96+64]
1

_ 216 _8

81 3

Consider, p = probability of getting a red ball = % -2

2
K=X
3

1

1
3
L]
81

27. Similar as Example 7.

28.

Ans. o 2 3 4 5 &
P 1L | 2 | 2 | 4 5

5 | 15 5 | 158 | 18

Given, X denotes the largest of the three positive
integers.

So, the random variable X may have values 3, 4, 5 or 6.

P(X =3) = P(getting 3 and two numbers less than 3)

_loxic, 1
tC, 20
P(X =4) = P (getting 4 and two numbers less than 4)
ey xic, 3
‘c, 20

P(X =5)= P (getting 5 and two numbers less than 5)
_loyxic, e

‘ic, 20
P(X = 6) = P (getting 6 and two numbers less than &)
_le e, _ w0
‘e, 20

.. Probability distribution is shown below

X|3—|4 S|E
1

3 6 10

PR % |20 | 0 |
Now, mean of distribution, E(X)= XX -P(X)
=3x L+4xi+5xi+6x£
20 20 20 20

_ 3412430460 105 _ 21
20 20 4



SUMMARY

Probability of an Event If there are n elementary equally likely events associated with a random experiment and m of them are
favourable to an event A then the probability of happening or occurrence of Ais denoted by P(A)and is defined as P(A) = —

n
Conditional Probability If Aand B are two events associated with the same sample space of a random experiment, then conditional
probability of the event A given that B has occurred, i.e. P (A/B) is given by

Py =252

.where P(B)# 0

Multiplication Theorem
(i) Let Aand B be two events associated with a random experiment, then
P(A)- P(B/ A). where P(A)# 0

P(AnB)= {P(B)- P(A/B), where P(B) # 0

Here, AnB denotes the simultaneous occurrence of the events Aand B.
(i) LetE, Fand G be three events of sample space S.
G

Then, P(E nFnG)=P(E)'P(£}P(EW")

Theorem of Total Probability Let {E,, £, ..., E,} be a partition of the sample space S and suppose that each of the events
E;, E,, ..., E, has non-zero probability of occurrence.
Let Abe any event associated with S, then

P(A)= P(E,)-P(A/E;)+ P(E;)-P(A/Ex)+ ...+ P (E,)-P(AIE,) = iP(EI-)-P(A/Ei)
=i

Baye's Theorem If E,, E,, ..., E, are n non-empty events, which constitute a partition of sample space S, i.e. E;, E. ..., E, are pairwise
disjoint, E, UE, U...UE, =S and P(E)>0,Vi=12....n.

Also, let A be any event of non-zero probability, then
P A) = ELPAIE) o aiyiv2.3....n
ZP(E)-PAIE)

Here, events £, E,, ..., E,, are called hypothesis. The probability P(£;)is called the priori probability of the hypothesis £; and the
conditional probability P(E;/ A)is called a posteriori probability of the hypothesis E;.

Random Variable A random variable is a real valued function, whose domain is the sample space of a random experiment.
Generally, it is denoted by capital letter X.

Probability Distribution of a Random Variable If X is a random variable and takes the values x;, X,, X5, ..., X, with respective
probabilities py, pa, Ps,---, P,- Then, the probability distribution of X is represented by

Xix,.xzﬁx;,‘...'x,,
PX)| P [P | Ps| - | P

n
where, p,»>Oand_Zl;:>,»=1;i=1,2,3...,n
=

n
Mean of X denoted by u is the number Z‘ x;p; it is also called the expectation of X, denoted by E(X).
=



CHAPTER
PRACTICE

7 If a die is thrown and a card is selected at

OBJECTIVE TYPE QUESTIONS
A B

1 If A and B are events such that P[E] = P{H}

random from a deck of 52 playing cards, then
the probability of getting an even number on
the die and a spade card is

then [NCERT Exemplar]
(a) AcBbut A= B (b) A= B (@1 oy ©1 @3
(c)AnB=2¢ (d) P(A) = P(B) 2 4 8 4

If A and B are two events such that P(B) = %

VERY SHORT ANSWER Type Questions

P(A/B)= 1 and P(AUB) = i then P(A) equals 8 A card is drawn from a well-shuffled deck of 52
2 3 cards. Find the probability of getting an ace
to [NCERT Exemplar] card.
3 1 1 3
= 2z 2 d)2
@ 10 ®) 5 © 2 ( )5 9 Two dice are thrown simultaneously. Find the
babili f getti doublet.
If A and B are two events such that Ac B and probability of getting a double 3
P(B) #0, then which of the following is correct? 10 Let E and F be the events with P(E) = 3
[NCERT]
3 1 _.
B\_ P(4) p( A] P(F) = = and P(E n F) = —. Find whether the
a —|=— b = A .
{)P(A] P(B) B A g)< P 10 5
A events are independent or not.
(© P[_] > P(A) (d) None of these
B 11 Two cards are drawn at random from a pack of

A flashlight has 8 batteries out of which 3 are
dead. If two batteries are selected without
replacement and tested, then probability that

52 cards one-by-one without replacement.
What is the probability of getting first card red
and second card jack?

[CBSE Sample Paper 2021 (Term II)]

both are dead is [NCERT Exemplar]
(@3 )2 ( SHORT ANSWER Type I Questions

516 E; 12 In class XII of a school, 40% of students study
(c) I (d) 25 Mathematics, 30% of students study Biology

The probability of obtaining an even prime
number on each die when a pair of dice is rolled

and 10% of class study both Mathematics and
Biology. If a student is selected at random from
the class, then find the probability that he will

is . [NCERT] studying Mathematics or Biology.
b) =
(a) zera ( ]3 13 A die has two faces each with number 1, three
(c) 1 (d) 1 faces each with number 2 and one face with
12 36 number 3. If die is rolled once, then determine

If two events are independent, then
[NCERT Exemplar]

(a) they must be mutually exclusive

(b) the sum of their probabilities must be equal to 1
(c) Both (a) and (b) are correct

(d) None of the above is correct

14

probability of not getting 3.
If P(A) = —, P(B) = — and P(A r B) = —, then
13 13 13

find P(ﬁ}
B [NCERT Exemplar]



15

16

17

If P(A4) = 0.4, P(B) = 0.8and P[%] = 0.6, then find

P(Au B). [NCERT Exemplar]

A coin is tossed 4 times. Find the mean of the
probability distribution of the number of tails.

Abag contains 1 red and 3 white balls. Find the
probability distribution of the number of red
balls, if 2 balls are drawn at random from the
bag one-by-one without replacement.

[CBSE Sample Paper 2021 (Term 11)]

SHORT ANSWER Type II Questions

18

19

20

U

22

23

24

If Aand B are two events such that P(4) = %

P(B)= %and P[g] = i then find P(A" n B").
[NCERT Exemplar]

If Aand B are two events such that P(4) = g

P(B) = gand P(AuB)= % then find
A3)4%)
B B

If a mother, father and son line up at random

[NCERT Exemplar]

for a family picture as E (son on one end) and F
(father is on middle), then find P (E/F). ycERT)

12 cards, numbered 1 to 12 are placed in a box,
mixed up thoroughly and then a card is drawn
at random from the box. If it is known that the
number on the drawn card is more than 3, then
find the probability that it is an even number.

In a college, 30% students fail in Physics, 25%
fail in Mathematics and 10% fail in both. One
student is chosen at random. Find the
probability that she fails in Physics, if she failed
in Mathematics. [NCERT Exemplar]

A bag contains 5red, 7 green and 4 white balls.
3 balls are drawn one after another without
replacement. Find the probability that
(i) the balls are white, green and green,
respectively.
(ii) out of 3 balls, one is white and 2 is green.

A bag contains 4 red and 5 black balls. Another
bag contains 3 red and 6 black balls. One ball is
drawn from bag I and two balls are drawn from
bag II. Find the probability that out of three,
two are black and one is red.

25

26

27

28

29

30

31

32

A box contains 3 orange balls, 3 green balls and
2 blue balls. Three balls are drawn at random
from the box without replacement. Find the
probability of drawing 2 green balls and one
blue ball. [NCERT Exemplar]

Two events E and F are independent. If
P(E)=0.3 and P(E w F) =0.5, then find

H7)- )

Given that the events 4 and B are such that
P(4)= % P(AUB)= %and P(B) = p. Find p, if

[NCERT Exemplar]

they are
(i) mutually exclusive.
(ii) independent.

In a group of students, there are 3 boys and

3 girls. 4 students are to be selected at random
from the group. Find the probability that either
3 boys and 1 girl or 3 girls and 1boy are
selected.

A and B appear for an interview for two posts.

The probability of A's selection is %and that of

B’ s selection is % Find the probability that

(i) only one of them is selected.
(11) none is selected.

Three persons A, B and C fire at a target in turn,
starting with A. Their probability of hitting the
target are 0.4, 0.3 and 0.2, respectively. Find the
probability that exactly two of them hit the
target. [NCERT Exemplar]

Three bags contains a number of red and white
balls as follows. Bag I : 3red balls, Bag I1: 2 red
balls and 1 white ball and Bag II1 : 3 white balls.
The probability that bag i will be chosen and a

ball is selected from it is é wherei=1 2, 3. What

is the probability that
(i) ared ball will be selected?

(i) a white ball will be selected?
[NCERT Exemplar]

A box contains 2 gold and 3 silver coins.
Another box contains 3 gold and 3 silver coins.
Abox is chosen at random and coin is drawn
from it. If the selected coin is a gold coin, then
find the probability that it was drawn from
second box.



33

34

35

36

There are two bags, bag I and bag I1. Bag I
contains 2 white and 4 red balls and bag II
contains 5 white and 3 red balls. One ball is
drawn at random from one of the bags and is
found to be red. Find the probability that it was
drawn from bag IL [All India 2010]

Find the probability distribution of number of
doublets in three tosses of a pair of dice.
[All India 2011C; Delhi 2010C]

Two cards are drawn simultaneously (without
replacement) from a well-shuffled deck of 52

cards. Find the mean of number of red cards.
[All India 2012]

In a die game, a player pays a stake of ¥ 1 for
each throw of a die. She receives T 5, if the die
shows a 3; ¥ 2 if the die shows a1l or 6 and
nothing otherwise. What is the player's
expected profit per throw over a long series of
throws? [NCERT Exemplar]

LONG ANSWER Type Questions

37

38

39

40

Bag I contains 3 red and 4 black balls and bag II
contains 5 red and 6 black balls. One ball is
drawn at random from one of the bags and is
found to be red. Find the probability that it was
drawn from bag IL [Delhi 2011, 2010]

A man is known to speak truth 3 out of 4
times. He throws a die and reports thatitisa

six. Find the probability that it is actually a six.
[Delhi 2011]

A factory has two machines A and B. Past

record shows that machine A produced 60% of
items of output and machine B produced 40%
of items. Further, 2% of items, produced by
machine A and 1% produced by machine B were
defective. All the items are put into a stockpile
and then one item is chosen at random from
this and this is found to be defective. What is
the probability that it was produced by machine
B? [Foreign 2011]
In a bulb factory, machines 4, B and C
manufacture 60%, 30% and 10% bulbs,
respectively. 1%, 2% and 3% of the bulbs
produced, respectively by A, B and C are found
to be defective. A bulb is picked up at random
from the total production and found to be
defective. Find the probability that this bulb was
produced by machine A.

H

12

143

14

45

46

If a machine is correctly setup, it produces
90% acceptable items. If it is incorrectly setup,
it produces only 40% acceptable items. Past
experience shows that 80% of the setups are
correctly done. If after a certain setup, the
machine produces 2 acceptable items, then find
the probability that machine is correctly setup.
[NCERT]

There are three coins. One is a two tailed coin
(having tail on both faces) another is a biased
coin that comes up heads 60% of the times

and third is an unbiased coin. One of the three
coins is chosen at random and tossed and it
shows tail. What is the probability that it is a two
tailed coin? [All India 2011C]

Suppose 5% of men and 0.25% of women have
grey hair. A grey haired person is selected at
random. What is the probability of this person
being male? (assume that these are equal

number of males and females)
[NCERT; Delhi 2011]

A crime is committed by one of two suspects 4
and B initially, there is equal evidence against
both of them. In further investigation at the
crime scene. It is found that the guilty party had
a blood type found is 20% of the population. If
the suspect A does match this blood type,
whereas the blood type of suspect Bis
unknown, then find the probability that A is the

guilty party.

A letter is known to have come either from
LONDON or CLIFTON. On the envelope just
two consecutive letters ON are visible. What is
the probability that the letter has come from (i)
LONDON (ii) CLIFTON?

Suppose we have four boxes 4, B, C, D
containing coloured marbles as given below:

Marble Colour

Boxes
Red White Black
A 1 6 3
B 6 2 2
c 8 1 1
D 0 [ 4

One of the boxes has been selected at random
and a single marble drawn from it. If the marble
is red, then what is the probability that it was
drawn from
(i) box A7
(iii) box C?

(ii) box B?
[NCERT]



47 Aclass has 15 students whose ages are 14,17, 15,
14,21,17,19, 20, 16, 18, 20,17, 16, 19 and 20 years.
Onmne student is selected in such a manner that
each has the same chance of being of chosen
and the age X of the selected student is
recorded. What is the probability distribution of

the random variable X ? Find mean of X.
[NCERT]

CASE BASED Questions

48. Acoachis training 3 players. He observes that
the player A can hit a target 4 times in 5 shots,
player B can hit 3 times in 4 shots and the

player C can hit 2 times in 3 shots.
[CBSE Quesiion Bank]

e

Answer the following questions using the above
information.

(i) Let A: the target is hit by A, B: the target is hit
by B and C: the target is hit by C. Then, the
probability that 4, B and C all will hit, is

3 2 1

@ ®F ©F  @:

(ii) Referring to (i), what is the probability that B,
Cwill hit and A will lose?

1 3 7 4

a) — b) — c) — d) —

@g 5 @5 Qy
(iii) With reference to the events mentioned in (i),

what is the probability that any two of 4, B

and C will hit?
1 11 17 13
(a) 30 (b) 30 (c) 30 (d) 30
(iv) What is the probability that none of them will
hit the target?
1 1 1 2
— (B)— — d) —
@z ®gs (e) & )

(v) What is the probability that atleast one of 4, B
or C will hit the target?

@ ®F ©F (@

49. The reliability of a COVID PCR test is specified
as follows

Of people having COVID, 90% of the test
detects the disease but 10% goes undetected. Of
people free of COVID, 99% of the test is judged
COVID negative but 1% are diagnosed as
showing COVID positive. From a large
population of which only 0.1% have COVID, one
person is selected at random, given the COVID
PCR test and the pathologist reports him/her as
COVID positive. [CBSE Question Bank]

Answer the following questions using the above
information.

(i) What is the probability of the ‘person to be
tested as COVID positive’ given that ‘he is
actually having COVID'?

(a) 0.001 (b) 0.1
(c) 0.8 (d) 0.9
(ii) What is the probability of the ‘person to be

tested as COVID positive’ given that ‘he is
actually not having COVID'?

(a) 0.01 (b) 0.99

{e) 0.1 (d) 0.001
(iii) What is the probability that the ‘person is
actually not having COVID'?

(a) 0.998 (b) 0.999

(¢) 0.001 (d) 0.111

(iv) What is the probability that the ‘person is
actually having COVID given that ‘he is tested

as COVID positive'?
(a) 0.83 (b) 0.0803
(c) 0.083 (d) 0.089

(v) What is the probability that the ‘person
selected will be diagnosed as COVID

positive'?
(a) 0.1089 {b) 0.01089
(c) 0.0189 (d) 0.189



50. In answering a question on a multiple choice

test for class XII, a student either knows the

answer or guesses. Let %be the probability that

he knows the answer and %be the probability

that he guesses. Assume that a student who
guesses at the answer will be correct with
probability % Let E,, E, and E be the events that

the student knows the answer, guesses the
answer and answers correctly respectively.

[CBSE Question Bank]

Answer the following questions using the above

information.
(i) What is the value of P(E,)?
2 1 3
(a) 5 (b) 3 (c)1 (d) 5
(ii) Value of P(E |E,)is
1 2
(a) 3 (b)1 () 3 (d) 415
(iii) 2: g fP[-;—k] P(E,)equals
11 4 1
(a) s (b) s (c) 3 (d)1
(iv) Value of Z::fP(E,,) is
1 1 3
(a) 3 (b) 5 (o)1 (d) T

(v) What is the probability that the student
knows the answer given that he answered it

correctly?
2 5 9 13
Pt b) = -— d) —
(a) m ( )3 (C)11 (d) 3
1. (@ 2. (@) 3. (¢) 4. (4 5. (d) 6. (d) 7. (0 8. %
9. L 10. Not 1. L 12. 0.6 13. 2 14. 5 15. 0.96 16. Mean=2
i 26 i 9
17. X 0 1
1 1
e z 3
8. 1 9.2 20. 1 2. 2 22. 2 23.(hoos Goas 24.2554 252 26. -
4 25 9 5 28 T0
27. (i}p=11—0 (ii) p== 2.3; 29. (i)745 ()25 30.0.188 31 {i}% {ii}% 32.5/9 33.9/25
34 x 0 1 2 3
P(X) 125 1 78 | 15 | 1,
216 | 216 | 216 | 216
35. Mean=1 36.050  37. 2 38. 2
8 8
39. 1 40. % 410953 421 43 2 442 5.0lml 4660t )2 a2
4 5 19 21 6 1717 15 5 15
47.  x 14 15 18 17 18 19 20 21
py | 2 | L 2 3|42 3|1
15 15 15 15 15 15 | 15 15
Mean=17.53
48. (i) — (e, (i) — (a), (iii) = (d), (iv) — (b), (v) = (a) 49, (i) —(d), (ii) = (a), (iii) — (b), (iv) = (c), (v) = (b)

50.

(i) = (d), (ii) — (b). (iii) — (a), {iv) = (), (v) = (c)





